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Classification of ‘c’—llgls, clgd\& i?—l% pratyayas.
Preface -

For many years, | am teaching Samskrit Vyakaranam for students of various levels.

Teaching fds=d - tinanta & hcod - krdanta was really challenging for me and learning was

equally challenging for students.

Because, here both ‘EJI'IT;rs - dhatus and pratyayas of Third chapter of Maharishi Panini’s
Ashtadhyayi viz.iﬁ/mﬁ\'/ﬁgWs - krt-pratyayas / sanadi-pratyayas / tin pratyayas

are classified in some many ways for varieties of functions, and so many names are also

given to them for various operations. If a student lacks a holistic knowledge of these
fundamental classifications, learning will becomes an uphill task.

So, keeping all these in mind, study material is created based on sutras of Ashtadhyayi. Here
content and concepts of sutras are conveyed graphically in form of charts and diagrams,
which makes understanding easier and gives holistic view of classification of 3™ chapter of
Ashtadhyayi.

Though, in every classification, many sub classifications and nuances are present, but here
we have only given fundamental classifications, which are meant for beginners of
Ashtadhyayi. Hope book will be very useful for students.

This book contains two sections;

e The first section contains Classification of Dhatus from various stand points of view.
e The second section contains of Pratyayas of Third chapter of Ashtadhyayi.
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Classification of YTds, hd & fAg pratyayas.

Section -5
Lat, lot, vidhilin & Irut Lakara’s & examples
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Classification of YTds, hd & fAg pratyayas.

We all know, to get a fds=d# UcH we have to add both TaHIOT I like
A9 2T+ etc and fdg T to a oIq.

ard + faor 937 + fag uegd = fasead 9en

Here we will study fds pratyayas for all sarvadhatuka lakaras and for all
ganas.

Also we derive fds pratyayas along with fd&oT 9cgas which will be gana
specific and are very useful and easy for application, when these pratyayas

are added to specified gana dhatus we get Tds=dH dgH.

Consider general fdg pratyayas given in sutra
Ao fcyruiAsarATdasaataiAsaigAies  (Tfoifer g 3/4/78)" these are
general pratyayas for all lakaras and also for all ganas. These pratyayas will
undergo modifications in various ways as per lakaras and ganas here we are going
study in case of sarvadhatuka lakaras of¢ olc og faf@fds and also g 3.
In sarvadhatuka lakaras these Tdg pratyayas will come after

1. 3$RI=d 3377 in case of 1% 4™ 6™ 10™ gana dhatus and derived

dhatus (&Tleded Iq), because of 3J&RIwd vikarana pratyayas 9 Fe{

9. So all these dhatus common set of a3 pratyayas — see table

2. 3%RT=d 37597 in case of 5" and 8" ganadhatus, due to 3®RI=d
vikarana pratyayas % & 3. Many common operations based on this

will takes in both these ganas.

3. 3M$RI=d 31397 in 9" Gana due to vikarana pratyaya 2T, so will have
its own unique operation.
4. 2" and 3" ganas doesn’t have any vikaranas for all pratical purpose,

so ﬁ?\' pratyayas will change as per type of dhatus.

Page4‘
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Classification of YTds, hd & fAg pratyayas.

5. 7" gana is having vikarana 2% which is an Agama type, so as per

dhatus fds pratyayas will change.

qREATE JcIaT
IGEIETE Thadel# AECEGE:] qgIITH,
TAATE: fae = fa g f2r
2 1/3/3 & 1/3/9 1/3/4
HETHTEY: = o T g
2 1/3/3 & 1/3/9 1/3/4
SCTHTR: Ay = @ ™ A
> 1/3/3 & 1/3/9 1/3/4 1/3/4
AcHAAYE I
ICEICRE ThadeTe AEEEGE:] SgadeTH
d HTaTH )
JUATEY:
N\ 1/3/4
urq HTYTH eaH
HEIATDY: ) - -
> 1/3/4 1/3/4 1/3/4
_ : $T= % R Afes Afg
> 1/3/3 & 1/3/9 1/3/3 & 1/3/9
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Classification of YTds, hd & fAg pratyayas.

ELLLERL CRERG M I R substitutes.

The pratyayas 31/ 3T takes various forms either completely or partially for
different lakaras and ganas. All these variants are dicussed below for
lakaras oI @i o3 fafafds ¢ g3 and finally given in tables.

ST 3-4-108

37 - fAsewET 9 T S| el i |

In parasmaipada fafifels, pratyaya & is replaced by 4.
In S8 ST is g by Ig 1/3/7, so 3H (=3:) remains.

Eg - Ela'{l_;:

astsgeafaicsaa 3/4/109

re-3rerea-fafeear: 3 i oH

RA-IcgaTd, W&, MTEAId RE, dUT [@Ae-U1gsy: R Bd-o0hRET F-9caaey 8-
3een: safa |

The T&1-9cT of a f3d-al%R when followed by either 8@/ 313IEd or fdg then such
f5¥ is replaced by 4.

In 3rd gana in sarvadhatuka &% lakara when dhatus gets reduplicated we get

Abhyastam, when T3 follows such an Abhyastam it will be replaced by 14
Though this SIH is f&d, yet causes guna by sutra @ﬁr T 7/3/83.

@'ﬁr T 7/3/83, 31 ol{ causes guna of anga’s final §& letter.

Under normal condition ST& isﬂ'l'c??.]'lﬂﬂ?by 3/1/113 and Hﬁ?—[, sof%?—[by 1/2/4,
hence stops guna of 8% letters of anga by fFarsfa @ 1/1/5, but by this sutra T8
causes guna of 3& letter of anga.

34 is present in both og %R of and dIc &R, but this applies only in
31971f& /& which is in only @ @R not in AIC @& which is not a 3aTa
4.

The ¥ of @ o%R of Abhyasta dhatus (All 3" gana dhatus and special
7 dhatus - S7&T etc. called Abhyasta of 2 gana) etc, causes guna of final

S letter of anga. - see also 3 gana dhatus.
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Classification of YTds, hd & fAg pratyayas.

ST T 3-4-105

31 - fETET s I 3R Hatd ||

In Atmanepada faf@ifeis, pratyaya a7 is replaced by .
In T, o is not 3d ,due to sutra = fasterdt JEAT: 1/3/4.
Eg - TR

arsed: 7-1-3

Y - YIITIRIGITET ST TUT 3ed ScaTAGLN Hafa |
The 31 of a pratyaya will be replaced by 3=d

So & becomes 3if=d, $] becomes 3=d and $ becomes 3o
Eg - Isffed Ioleq] 31Tsle] Fofed

ASFIEATT 7-1-4

HE: - HITEACTINGeRET FeIIEACIAITET SHBRET T 3] ScAAAGAT o7afet |
The 3 of a pratyaya will be replaced by 3Td when followed by an anga called
HETEA.

So & = 31, hence & becomes fa.

By 3% 3¥#a&d# 6/1/5% and Sfaicaed: v 6/1/6, all 3 gana dhatus when doubled
and seven dhatus &7 etc. of 2™ gana are called 379JEd.

Consider & in o prathama purusha bahuvachana for.

So we have § + &1 will become &% + & here by 7/1/4 &1 will be 3fd

Hence f3] + &1 = fa9y + afa = f9afq,

In o faerg

 in oI prathama purusha bahuvachana 3T will be TS,

3aT- eafd, gad | aufd, auq | Steifa’, Stefq | Safa®, Sarg

cAYSSaAd: 7-1-5
I - IHARRIACIINGRET HTCHAUCY Tl AT FeIITICSThNED T 3
ScagAGeN Hafa |

The 31 of a pratyaya will be replaced by 31d when followed by a 3s7sRT=d non-
HPRI=d anga in Atmanepada.

? For details see 2™ conjugation ST dhatu.

® For details see 2" conjugation ST dhatu.

* For details see 3" conjugation 4 dhatu.

> Though this is a 2™ gana yet is called 373TEd by sutra Sf&Icacd: w¢ 6/1/6

® Though this is a 2" gana yet is called 37%I¥ by sutra SIfaIcaEH: ¥ 6/1/6 see 2" gana dhatus for
details
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Classification of YTds, hd & fAg pratyayas.

So & = 31d, hence 3 becomes 37d.

In atmanepada, we get 3@/&®Rl=d (= non-3/&Rl=d) anga in 5" gana, 7" gana, 8"
gana and 9™ gana, because all these are having non-3/&Rl=d gana vikarana
pratayayas. Also we get in 2" gana and 3" gana because there are no gana
vikarana pratyayas.

Consider 5" gana - & 31 by 7/1/5 we get &  31d = Read’

Consider 8" gana - & 3 & by 7/1/5 we get & 3 3d here many rules will apply
and finally we get X 3 31d = X q 3d = Fad".

Consider 7" gana - REl 3t by 7/1/5 we get RE 373 here many rules will apply and
finally we get ggaiar’

Consider 2™ gana - 37 3 by 7/1/5 we get 3THq 37 = 3T&d

3T - Read, Raa, e | J4d, JFd1H, 3elad | 9d, Jelds, 39 |

7 see 5™ conjugation example I dhatu for details.
& See 8™ conjugation example Gl dhatu for details.
% See 7™ conjugation example RS dhatu for details.
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Classification of YTds, hd & fAg pratyayas.

<1 substitutes for oI 5”3\ ols

for TREATGHT] for McHAATGHT]
0TS aM0Ts
S = 3=d 1 to 10 ganas except 3™ 1,4,6,10
N ) gana and special dhatus By [ SiIs=dl: 7/1/3
called Abhyasta of 2ganax
by ¥F sised: 7/1/3
= 3Id 3™ gana and special Non 3/#RT=d vikarana

dhatus called Abhyasta

pratyaya ganas -

of 2 ganas 2,3,5,7,8,9 ganas
by 31GFIEATT 7/1/4 by 3cHaUCSTAT: 7-1-5
@' = 3 3 gana and special
) ) dhatus called Abhyasta
In &S parasmaipada g
I = of 2" gana, by sutra
ony: fasreTreafafesaea 3/4/109.
Though this ST is 3,
yet causes guna by
sutra SIRE T 7/4/83
for WEAUGHTT for McHAATGHT]
minaIIWs %‘:3‘& H=

by sutra gie{# 3/4/108

by sutra s 31 3/4/105

<1 substitutes for 9 / 93

33[ - For all dhatus i.e. ¥C

AT & dg, substitutes for ¢

oS by §F Fis=d: 7/1/3.

for TREATGHT]
o = I

for TcA=YGUTd
o = 3
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Classification of YTds, hd & fAg pratyayas.

AIATEIChadd & 9 substitutes.

When fg pratyaya comes after

3 =g A 3 =5 | Foled 37T RATeToled 3537
HPNTed ST j‘chN not preceded by | gng g-_g_l-r(—i of | coming after .
FIFA 3" gana. GoweETd of
gana only.
e qF JHedaH qF el o =T becomes 2
HETHTES by 37dl &: 6-4- | by 3024 by gel: Qa1
T - g | 105 HIATCHAIET 6- QMeTosil 3-1-83
4-106 and then
becomes G of 7 by
31 g 6-4-105
Because ReToTocd
is 3hRTed 3T
Application 1,4,6,10 andall | 3rseaerds of 5" gana g dhatu, geleards of gth
area '?’E;I:iesdi::::zso.f and 8" gana dhatus. orei=d dhatus | 8"
Qreed, e, of 2", 3
AMed angas. and 7t gana,

In all other places pratyaya f§ doesn’t undergo any change and

remains as f§ only.
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Classification of ‘c’—llgls, clgd\& i?—l% pratyayas.
List of Sutras
37 ¢ 6-4-105
3eTdid 3 RET "R" Teaaey ofs #afa |

f& disappears (3/e<=i#) by term & when followd by 3fhRTecl 37S.
Eg.us for@ etc. see page 11

3T YeIIIGHAITYAT 6-4-106

IEIRYE: F: IR, deedlc] FeddTd, RET B-Icqaeg o #rafd |

If 3 of a pratyaya is
o INEIANIYS:
e finalof an 3gdT
then after such a 3rEAEYE: %K if pratyaya @ comes. Then such g will get
disappeared (31e¥i=i#) by term o, see 47.

Eg.Rae %% etc.

gsfoea gfe: 6/4/101

§-3‘-|F3-‘€IT: g o

§-*a1?|‘r: WRET AT Seledld RET & veaasy & 3meen safa |

The & 9cad is replaced by &, when followed immediately by €T § or a Sfeled

Td.

S

The above condition happens only in case of $idled UTds of 2, 3 and 7" gana,
because only in these ganas f& comes immediately after dhatus, where as in all

other ganas between dhatu and f& there is gana vikarana pratyaya like 29 etc.

In case of g dhatu though not a 3Tei=d, yet & becomes T, due to its
consideration in sutra. ST 3¢ fafg ffeg If-ey
Eg - 1) § &g - 3" gana

g+ =g & by 6/4/101 g f&r = o

2) fdg d= - 2™ gana. fag is a $Tel=d dhatu
fag +f® = by 6/4/101 fag & = fafg

Page 1 1
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Classification of YTds, hd & fAg pratyayas.

3) ffdy fagror 7" gana
g & = f@i=g® R by 6/4/101 g [ = fifeg

4) gfiy awr 7" gana
g1 & = I3 & by 6/4/101 I51 & = goa1'' ¥ = qeFy

5) fay zaredt 3" gana
fay fg = afay & by 6/4/101 afay & = afay f& = 3afag f*'? = afasfe

gol: Qa1 QATAwSAT 3-1-83
goledld, WRET WA-TcIET f@-Ucdd W AT (=31TeT) Hcer: Hafa |

The 2T 9T following a &el letter is converted to =T when followed by the &
gy,

When =T 9cdd comes after a geled YT then =T will get replaced by M= when
followed by & 9cI.

ATAT = 3Tl here Y and T are Sd by sutra 1/3/8 and 1/3/3.

Eg - consider ¥ dhatu 9" gana. This is a gded urq

Y & f§

§¢ 21T T8 here by go: 9a1: Qmeiosil 3-1-83

ay e o

Y A & = (I 37eT) & since A=sted 37597 is ’PRIed 3737, so & Te77 will
become % by 37 §: 6-4-105. See page 61.

JY AT = dTeT

ITETOT JT=T etc.

©ffig. becomes T@«¢ when vikarana @1# is added, details are beyond scope
of our discussion. See also in 7" gana dhatus.

"I becomes JsT, details are beyond scope of our discussion.See also in
7" gana dhatus

213Y becomes afds and f& becomes f& details are beyond scope of our
discussion.See also in 3" gana dhatus

By. Srinivasa Swamiji
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Classification of ‘c’JISIs, clgd\& i?—l% pratyayas.
3¢ / A Agama in &g ¥ o5 lakaras.

In lakaras [FEFGES and GES

galrie, dhatu is augmented with 371¢ agama and

37a1fe dhatu is augmented with 37IC agama respectively,

In case of 3¢ agama vriddhi is also carried out, all these are discussed
below.

dIgelsesadgaled: 6-4-71

IS &5 3 ScAAY WRd: I 3¢ WA Hafd, Seleaed Hafd.

When oI5 oI oI5 pratyayas follows an anga, then such an anga gets 31¢
o= R N

agama.

Since for 37ST1f¢ 371897 agama is 3T by sutra 6-4-72 3TSSIEIITH, so this sutra
will be for gerfe 33T

We get gelifg 37591, if dhatu is gelliq like 8] US ISl all these are &dllic
dhatus.

In agama 3C. T is 3d by gdecad 1/3/3, so 3¢ = 37 and is a f&d agama,
hence gets added at beginning of anga by mo—_cﬁ cfohdl 1/1/46.
The meaning of sutra will be

A gaTfe dhatu in o[ oI5 ¢JS pratyayas, gets an agama 3 at its beginning.

Eg-1. Consider & in &5, we have 3 + &3 = ¥ + d, like in *I< also, we get
# + A9 + , and becomes = HI F d = AT d

Here pratyaya d is &5 and #d is a gdllic 3757,

S0 by sutra dJgelsefs&dgaled: 6-4-71 this anga gets 3¢ agama.

Hence we get 31 #d d = 3ddd

Similarly we get 3HddrH e 3JHA: IHAIIH HHdd HAIH HAdG HHAAH.
IS IS etc.

Page 1 3
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Classification of YTds, hd & fAg pratyayas.

HSAEIATH 6-4-72

T 3TSATENATH,

IS 5 I3 $cAAY WRl: ISEIAH HSIAH HE IEAT §didd, 3eTcary Hafd
When g &5 o[ pratyayas follows a 3ranfe anga, then such an anga gets
3¢ agama.

We get 31aTfe 31577 if dhatu is 379Tfe like TS] &#del Tof 234 1% gana.
Ty ggl 002, 1% gana.

318 g 1065 2™ gana = 39

3Tg, egredt 1260 5™ gana = 319

30T J1dl 1045 2" gana = &

387 g2 610, 1 gana = 387

all these are 31=Tf¢ dhatus.

In agaman 3<. T is §d by gelecdd 1/3/3, so AT = 3.
Also it is a f&¢d agama, hence gets added at beginning of anga by 34T€[<’2Io-—<-ﬁ
<fardl 1/1/46.

The meaning of sutra will be

A 3131TTe dhatu in gsagqs pratyayas, gets an agama 31T at its beginning.

Whenever this 31T takes place for a 375T1f¢ dhatu, naturally 3¢ will be
followed by 31 letters, under this condition, vriddhi will happen by sutra

3A1eT 6/1/90
3re: 3 WX gheepreer: i

When 311¢(=31) is followed by 31 letters, both will be replaced by an
appropriate single gfg letter, that is anyone of the 3T / 31X / ¥/ 3.

Page 1 4‘
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Classification of ‘c’—llgls, Dd & ﬁl_S: pratyayas.

+Q = €D

Eg-1 Consider Atmanepadi 315iTf¢; dhatu TY in o3,

We have TY + o3 = TY + d, like in ¢¢, we get T + /M + d and
becomes = TY I T = U‘ETI

Here pratyaya d is o3 and TY is a 37olli¢ 3139,

So by sutra HTSAGIATH 6-4-72 anga gets 3¢ agama.

Hence we get 31T TY I here 3¢ is followed by 3 letter T, so by sutra
3me’d 6/1/88 both will be replaced by single vriddhi,. The vriddhi of 31T + T
is .

3T U d by 6/1/90 becomes V¥d, so also VO UH=dH etc.

Eg-2 Consider Atmanepadi 315iif¢ dhatu &7 in o5

We have 387 + @15 = 3&7 + d, like in &€, we get 38T + 2 + d and
becomes 8T 31 d = 38T I

Here pratyaya d is @5 and TY is a 3ialie 3139,

So by sutra JTSAGITH 6-4-72 anga gets 3¢ agama.

Hence we get 3T s&7 I here 37 is followed by 3T letter §, so by sutra
3T 6/1/90 both will be replaced by single vriddhi. The vriddhi of 3T + &
is U.

31T 87 @ by 6/1/90 becomes V&Td, so also V&IATH Val=drd etc.

Eg-3 Consider parsmaipadi 35if¢ dhatu 3 in o3

we have 3Y + oI5 = 3Y + d, like in ¥¢, we get 3Y + Y + d and becomes
3 3 = 3§

Here pratyaya d is @S and 30 is a 37offe 3159,

So by sutra 3TSSGITH 6-4-72 anga gets 3¢ agama.

Page 1 5
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Classification of YTds, hd & fAg pratyayas.

Hence we get 37T 3HIY d, here 3T is followed by 379 letter 3T, so by sutra
3T 6/1/90 both will be replaced by single vriddhi. The vriddhi of 3T + 3
is 3.

3T 3 d, by 6/1/90 becomes 3i¥d, so also 3ivdre 3iive etc.

Eg4 Consider parsmaipadi 315iTfe dhatu $Y gTonaH, 6th gana 1351 = Y in
BE]
we have $Y + o3, here 3Y gets substituted by 3=, due to SYIRIAT o

7/3/77 so SY + d = 3T + d, now like in ¥I¢, we get 3T + e + d and
becomes ST& I d = TS5 d

Here pratyaya d is &1 and 3T is a 37slife 3759,

So by sutra 3TSSEIATH 6-4-72 anga gets 3¢ agama.

Hence we get 31T 3=& d, here 311 is followed by 31T letter S, so by sutra
31T 6/1/88 both will be replaced by single vriddhi. The vriddhi of 3T + §
is T.

3T 3T& d by 6/1/88 becomes UTid, so also VTHATH UThe] etc.

Eg-5 Consider parsmaipadi 3toTfe dhatu & arfaurgesrar:, 1st Gana 936 = % in
CE

we have F + ©ofg, here % gets substituted by <o, due to
greTeArEAFATG e A fdafdeeaer Refooruafaseaaacoargsteidiern:7/3/78
SO H + d = S + d, now like in &¢, we get k=& + U9 + d and
becomes T 3 d = TS d

Here pratyaya d is &% and %o is a 3T9llf¢ 375,

So by sutra JTSSIGITH 6-4-72 anga gets 3. Hence we get 31T %o d.
Here 37 is followed by 31 letter %, so by sutra 3iTe?d 6/1/88 both will be
replaced by single vriddhi,. The vriddhi of 3T + ¥ is 3TX.

3T %S o by 6/1/88 becomes 31Ti5d, so also 3T 3T etc.
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Classification of ‘c’ll(-los, Ele_c[& i?—l% pratyayas.
These are general pratyayas for all sarvadhatuka lakaras of all ganas.
Derived with help of basic pratyayas of 3/4/78 and also many other sutras

which we are not studying, but directly assumed, from which we get

pratyayas of all four lakaras

General Parasmaipada ﬁg pratyayas for sarvadhatuka lakaras of all
Ganas.
oI olhR I IhR

fa d = g ikl 4

& g g f& aA a

& G q 3Tl g TH

a GIE:| el o | e | g

q a4 d ar AT ard

3H g qrH arq IJH

These pratyayas allows guna of Anga.

Because these are Sarvadhatuka Td pratyayas.

These are Sarvadhatuka 31T9d are f3d pratyayas by sutra

HEUTIhATI 1/2/4, hence
e stops guna of an Anga by 1/1/5.
e Allows samprasaranam of an Anga. Eg sutra 6/1/16

& P9 3-4-108. In parasmaipada faf&ifers, pratyaya f&¥ is replaced by 4.
In S ST is 3 by dIg 1/3/7, so 3H (=3:) remains.
So & becomes a1 + &7 then becomes a1 + 3H = J:

Ly DIHInIvVUOU wvvunige
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Classification of YTds, hd & fAg pratyayas.

General Atmanepada ﬁg pratyayas for sarvadhatuka lakaras of all Ganas.
A FTRR AT ol
a 3T £ GIE| HTATH ST
a 3y =] ) wUH, | A
T de e Y 3ag 3He
a 1A £ sd | $UEH | ST
l I | R SUT | AU | A
3 afe Afe sg safe sAfe

& SET T 3-4-105

In Atmanepada fafefeig, pratyaya =7 is replaced by .
In I, & is not 3d, due to sutra = fsrerdl q&AT: 1/3/4.
So & becomes § + 3T then becomes § + I = A

By. Srinivasa Swamiji
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Classification of YTds, hd & fAg pratyayas.

Now we are going to get modified fds pratyayas from general pratyayas for
ganas 1%t 4™ 6™ 10™ and also for derived dhatus. In all these ganas the
vikarana pratyayas 29 I U are all 3hRI=ds, so when these are added to
dhatus, fag will get 31&RI=d 3789Ts, hence in all these ganas many common
operations takes place resulting in a common set of pratyayas.

General parasmaipada fas pratyayas which are useful for 1% 4™ 6™ 10"
ganas and derived dhatus.
These pratyayas are all followed by JA&RIed 1S
oI olhR I IhR
fa a: Afed d drH g
& o g @ aq a
& g q 3t 3a 3TH
a e 3T s EIIE 5g
q dH d g: S sd
3TH d ol SIH °d oH

* Here by 3lis=d: 7-1-3, the &1 of a pratyaya will be replaced by 37=c
e So {2 becomes 31f=q,
e % becomes 3i=J and
e 3] becomes 3=d under this condition d will become lopa, so 3

remains, hence 3 = 3o

# In entire vidhi lin Ir becomes 3, because it is followed by 3hRIcd 31S4T,
due to sutra 37 AF: 7/2/80 and oAt =@afer 6/1/64.

@ Here f& disappears (312s7d) by term ol%, because it is followed by
HFRTed A by sutra 37ar &: 6/4/105.
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Classification of YTds, hd & fAg pratyayas.

General Atmanepada fdg pratyayas which are useful for 1°* 4™ 6™ 10"
ganas and derived dhatus.
These pratyayas are all followed by ISRIled 33T

¢ TP AN ThR
d 5 3ed” GLE SAH | el
a sq e &= FTH e
T ag AE T 31ag A
CERRCEIEY ICIBIGE;

=1

E

g
& F a

:

g

xHere also by giis=d: 7-1-3 we get these forms.
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Classification of YTds, hd & fAg pratyayas.

5.1 sa1fg ror: / 9YA 9T / First conjugation
Here we are going to study &€ R of §drfe 3IroT:

% In HARIINT AY is IONIIROT GcIT of &F41f¢ 0T which is obtained by
sutra &diX a9 3/1/68.
% In 2 -
= 2 is 3 by dIFAdid 1/3/8, so RId, hence AEUTIH by
fasRIcarauTdgs 3/4/113.
= T is d by g&decad 1/3/3, so [d, hence doesn’t stops
Guna/Vriddhi.

fare,
So WA by 3/4/113

fRa

~

| so allows Guna and vriddhi.

Considerﬂ'l?of 3{\ HcedldTH, 1%t gana. 001. Parasmaipadi

In 3 there is no $d gul, so # remains.

In (‘*I'c.faw_c‘lﬁ'qw

3{\+ oI under this condition by sutra 3/1/68 {9 come after 3{}1’!?3“

So this will be - 3 + 9 + faq

In 9 - 2Mis 3c so fA, hence Hﬁw by 3/4/113 and T is 3c so [, hence allows
guna.

In fJa9 - Tis 8 so U, so f[Aq is Hﬁw by 3/1/113 and T, hence doesn't stops guna.
Now it will be 3{\+3—T+%,

Here from 19 point of view 8] is 37SdT

From f9 point of view (87 + _M9) is 37T

Pagez 1
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Classification of YTds, hd & fAg pratyayas.

Now in 3SdT 8] - quT s present at its end, so this 3lecd 3hIX undergoes guna by sutra
7/3/84—3[&3@?[3‘[&1@@:, and 3 gets replaced by 3.

So we get (37 +3M) + T + faq = 3 + 37+ T

Here 31T is followed by 31, so by rule Tdls JAATd: 6/1/78, 31T will be replaced by 319, so we
get 19 + 37 + T = 819 + 31T = HafA etc.

Considerﬁ?[ﬂl@ in ¢ hARIIIT
T + S under this condition by sutra 3/1/68 29 come after ﬁ?—[‘iﬂ?af I
So it will be - R + e + faq

In Q9 2 is 3 so fA, hence HI'E?ET@'EF by 3/4/113 and T is 3 so T, hence allows guna.
In a9 - T is 31 so 0, So faT is HI'E?ET@'EF by 3/1/113 and T3, hence doesn't stops guna.

Now it will be ﬁ?—[+ I+,
Here from Y point of view ﬁ?—[ is 35T
From fa9 point of view (T + 29) is 3757

Now 37597 - [ contains § which is 394T by1/1/65 and alsoerg by 1/4/10.
So ﬁ?—[is a FI"QI'\CTUZ%E?T, so guna takes place by eI T I 7/3/86 and § becomes T .

ﬁl?—[%l'c[ﬁ'c[ by 7/3/86 = ﬁ?—[+3—1’+%=ﬂ?[+3—1ﬁ=ﬂ?lﬁ

Consider S11d €1, in o1C &l YT
Sig + &< under this condition by sutra 3/1/68 19 come after GﬂT{?TIT;r I
So it will be - SfIg + 29 + faq

In T s 3 so fAd, hence Qzl'lé‘iﬂF__I,? by 3/4/113 and T is 3c so [, hence allows guna.
In fJa9 - Tis 8 so U, so AT is Qzl'lé‘iﬂF__I,? by 3/1/113 and T, hence doesn't stops guna.
Now it will be 31 + 37 + fa,

Here from 219 point of view I is 37597

From T point of view (Sita+ fad) is 37597

Here 3-133T3-ﬂ_q:contains é’, which is 39€T by1/1/65 and also T by 1/4/12.

So Siiq &I Anga and is not a TgUY 37571, so guna will not takes place for by
sutra 7/3/86, hence we get SiIq + 19 + faT = Siq + 37 +fa = Sfig + 3fa = Shafa
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Classification of YTds, hd & fAg pratyayas.

Consider &7 4rq, in AT HARIIIT

fﬁ'&ﬂ oI under this condition by sutra 3/1/68 9 come after fa\-T&Ti]T-QT |

So it will be - f&¥&T + erq + faq

In QT 2T is 3 so T, hence E‘I’é’W by 3/4/113

Jis3d so ﬁ?[, hence allows guna

In ﬁ'c[— Jis3d so ﬁ?[, hence doesn't stops guna.

Now it will be f&&T + 37+ fa,

Here from U9 point of view f&&T is 31591

From fa9 point of view (T&T+ 1) is 3759T

Here 31397 {8 contains §, followed by W&ﬂ &1,s0$ though g&dis %, by sutra
1/4/11 and 39T also. So Anga fHaT is a I&TY Anga, hence not a oTHUY 37T,
so guna will not take place for g by 7/3/86.

Hence fH&T + A9 + ﬁrQ::ﬁ-T&:[S-]ﬁf:%ﬂﬁ.

Consider dhatu €] Redram#H 1% gana, 933, parasmaipadi.
T+ 9+ faq = T % 37 fQ, like earlier example,

here there is a provision for guna by sutra 7/3/84, because this is a Sdled
containing 3 at its end. So undergoes Guna becomes 3T,

A I ¥ fa = & 3fa = ¥Rfa ete.

Consider Qﬁ (=Q;l,?{) eMeh, 183,1° gana, parasmaipadidhatu.

e+ 99 + fAq = g 37 4, like earlier example, here also SEUEN is 3, so
undergoes Guna by JITedoTHIEEd I 7/3/86 becomes 3.
e 3 T becomes A 37 fd = el etc.

Similarly gﬁ(=§‘i{) 37q9THT 858, 1% gana, Parasmaipadidhatu steIfd etc.

Consider #c &Y 16,1% gana, Atmanepadi

He + A9 + d = Hg + 3 + d, like earlier example, here also FEIT is 3, s0
undergoes Guna by JIedoTHUeEd I 7/3/86 becomes 3.

Alg_ 3 d = Aled etc.
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Classification of YTds, hd & fAg pratyayas.

T ggl 002, 1 gana, Atmanepadi = T¢|
TY + 9 + d = TY 3 d = TYA etc. In this case there are no 3% letters, so
no provision of Guna.

frer faegaresr 605, 1% gana, Atmanepadi= fRra7

forer + g + 0 = A7 31 I = A&A etc.

In this case though g is there, but not laghu upadha because followed by
samyukta varna &, so no provision for guna.

gd dael 756, 1% gana, Atmanepadi= gd

gd + A9 + d= qd®&k d3A d here upadha 3 is a ofgJdl, so undergoes guna
by EUCO RS T 7/3/86 and becomes 31X,

hence we get d 3R d 37 d = Jdd etc.

g8 g¥= 756, 1% gana, Atmanepadi = ¢

g + A9 + d =9 ;| Y9 37 d here upadha ¥ is a oTgyYT, so undergoes guna
by OO EERELS T 7/3/86 and becomes 31X,

hence we get d 3R 4 3 d = T etc.

g ORIy 600, 1% gana parasmaipadi = 379
319 + A9 + fag = 39 3 fa = 3@fad etc.
In this case there are no $& letters, so no provision of Guna.

se7 g2l 610, 1st gana, Atmanepadi = 3&T

$ef + 9 + d = ST 37 .

In this case § is &I¥ so %, hence not a laghu upadha, so no provision for
guna. We get 387 37 o = $8&Td etc.

3Y gle 696, 1st gana, parasmaipadi = 3

I+ g+ A =3w+3r+ M

Here 3 is ofguel, so undergoes Guna by Jaledele[TeEd I 7/3/86 becomes 3.
3 37 T3 = 3nwfa.
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Classification of YTds, hd & fAg pratyayas.

g T&TUI?FIIT%G;[ 600, 1%' gana, parasmaipadi = 319
3 + 9 + fa = 319 + 31 + fd, here there is no provision for guna, because
there is no 3% letter, hence we get 319 + 37 + fad = 3@fa etc.

A5 [ermw 1dt 968, 1% gana, Atmanepada = &

& + 99 + d =3 + 3 + d, here there is a provision for guna by sutra
7/3/84, because this is a 9l=d containing § at its end. So

T +3A+d=3Hd by 3Tg Y we get 3T 31d = I etc.

STy WIedl 975, 1 gana, Atmanepada = o8]
ofH + A9 + d, here there is no provision for guna, because there is no g&
letter, hence we get o3 + 31 + d = oI¥d.

mi gredl 982, 1% gana, parasmaipadi = 31
IH + A9 + fd = a7 + 31 + fd, here by sutra sEIfA™e ©: 7/3/77 1A will be

replaced by 315, so we get 3= + 31 + fa = I=aia etc.

T 9eTor 988, 1% gana, parasmaipadi = T

TA + AT + T = g + 37 + fA, here by sutra arEreAEIACUTafdabCHeT
et faseAagcoTgTsaliader:7/3/78 €2 will be replaced by 9% in
sarvadhatuka lakaras and pratyayas, so we get 9F + 37 + o

= g9y 37 fa = 97 37 7 fa = 7 7 7 = 923fT etc.

Similarly 9T 91st 925 1% gana, parasmaipadi = 9T
qr + 9 + fd, here by 7/3/78 4T becomes @« in sarvadharuka lakaras, so
we have s + o + fd = A&fa etc.

&1 Afdfeidedl 928, 1% gana, parasmaipadi = T
Note - How &I becomes ¥I1? All ¥ which are at beginning of a dhatu i.e
377fe W will become ¥ and due to ¥, & becomes ¥, so we get ¥

B Also see 315 fagrad arat 1135 of 4th gana.
“ Here 37 + 3T will be 37 only, not & 3T, same thing happens in e, fas& etc.
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Classification of ‘c’—llgls, clgd\& i?—l% pratyayas.
AT + A9 + T3, here by 7/3/78 ¥4T becomes fass in sarvadharuka lakaras,
so we have fass + g + fa = fassfa etc.

YTy Uk 996,1°' gana, ubhayapadi = =1

gg + o + fd = 9 + 31 + fd, here there is no provision for guna, because
there is no 3% letter, hence we get 99 + 31 + fa = gafd etc.

Similarly 99 + 9 + d = 9dd etc.

offsT 9T9uT 901, 1% gana, ubhayapadi = oft= =it Fafq F9a
Note - how ©f13] becomes =iI.

All oT which are at beginning of a dhatu i.e. 37f¢ TR will become = , so
ofist  will we get =i,

As explaiied earlier this being a 33=d dhatu, the final § of dhatu undergoes
Guna by sutra 7/3/84 and then 3/ 1f¢ &fe¥r, so we get #3fd / #IA etc.
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Classification of YTds, hd & fAg pratyayas.

1.f9F pratyayas along with fa&or Yo for sarfearor, guifeeror and
HATEHw ETds.

We all know in Rmalong with sutra aﬁﬁ‘\’l’c[ 3/1/68, /Y comes after 3{\‘211?3“
8+ 9+ 39 under this condition as we all know

a) Here from R point of view 8] is 313T.

b) From faq point of view (87 + _M9) is 3T3T.

e So for faq there is always Ue=d >-3139T that is 3&RI=d 31391, (in other
words it is non 33 '° 3739T) hence question of guna by
Hlﬁiﬂgimﬁﬁﬂ@w:—WS/M doesn’t arise at all. Also there won’t be
guna by EedeTqIa&T I 7/3/86 due to various reasons.

Hence there won’t be guna for 2&=d-3139T by a9 and also by similar
qrauTde T pratyayas like 9 Y etc. and in case of non T like

dd, a etc. there is no question of guna at all.

e Whereas from 9 point of view dhatu itself is an anga and undergoes
guna.

e These rules apply for WT 10th gana and Hellcded Tq also,
because of same 9 IcIT.

So we can safely assume that for #a1f&aror, JUTIT and FAGI=d UTs.
o fag pratyayas like f& & f& @& & etc. will not cause guna.
o But fag pratyayas along with fa&or 9 like 3ifar 3ra: 3r@ 3r=a
will cause guna to dhatus.

99 3fed = ded here I becomes §
'® 5 37ed = §9=d here & becomes
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Classification of YTds, hd & fAg pratyayas.

Tables of ﬁg pratyayas along with f@&or yeaor A9 for sarvadhatuka

lakaras of &aTfearor, YXEOT and FATGI=d UTs.
Parasmaipada fag pratyayas along with fd&=or yeaar arq for 1
gana,10™gana and ¥«lgd=a dhatus in FelRIANT.
All these pratyayas will cause guna to a dhatu, due to 9.
AT PR - o9 dfed Az veag Al oI - 9 afed g veag
Ffa 3 Hfea’ 3q IAH | ]
ke 379 3y ki 3aH 3d
nfar 37a: 3" 3t 3q A
g R - o @fkd O v fafafes - o afta Rz v
39| Haq g T TaH ud
3| 3T 3 TIH g wq

# Here special sandhi rules will happen by sutra HHTUIUT 6/1/94 which we won't discuss.

*Here 3 becomes 31T by sutra 3rar draf Iy 7/3/101 which we won’t discuss

@ Here sandhi rules Y + Sc = 3T + Sl becomes Ud by rule 31T 9[0T 6/1/87 also called guna sandhi.

& Here & disappears (3Ee+1#) by term &% when followd by 3/RTed 37597 by sutra 3idl &:
6/4/105.

fara,
So HIAUTI by 3/4/113
R

~

| so allows Guna and vriddhi.
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Classification of YTds, hd & fAg pratyayas.

Atmanepada s pratyayas along with fa@or yeasr for 1% gana, 10™ gana
and Hagded dhatus in FRWANT.
All these pratyayas will cause guna to a dhatu, due to 9.

T PR - o B g v e oTPR - 2 BT fag weaw
3a @ kicnii 37T et
ki) e e 3 &g s
T 3Mae” 3R T A

oS R - g @fd s veag afRafes - o wfta s v
3T TH® | 3EaH AT | WO | TEEH
T@ Imafy’ | AR 1) Tafg Tl

# Here special sandhi rules will happen by sutra 3-1?-|>I'3;I'@f 6/1/94 which we won't discuss.

*Here 3T becomes 3T by sutra 3rar Sraf I 7/3/101 which we won’t discuss
@ Here sandhi rules M9 + $d = 37 + $c becomes Td by rule 31T¢ I[0T: 6/1/87 also called guna sandhi.
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Classification of YTds, hd & fAg pratyayas.

&1 II0T: / ¥ 3T0T: / sixth conjugation

Consider d& ©Td of 6" gana - in AT HARIINT

dc + oI under this condition by sutra ﬂ?{lﬁa-'qt *: /A come after de G|

So this will be - Je + T + fdq

In 2T 2 is 3 so fd, hence HI'C‘[W by 3/4/113 and it is 3779, so by HI'&’UIHQW:[}TEI?[
1/2/4 it is %T—[, hence stops guna by Fasfaa1/2/4

In fJa9 - Tis 8 so U, So faT is HI'C‘[W by 3/1/113 and Td, hence doesn't stops guna.
Now it will be ¢ + 37 + fa,

Here from R point of view g is 33T

From fa9 point of view (Je + 21) is 3TS9T

Now 3TSdT ¢ contains 3 which is 39T and as well as ¥, so is a oT([dY 37T

But T is %('-[, so guna of JIled T Ig T T 7/3/86 is prohibited by fFesfa =T 1/1/5. So no
guna.

@at+3{+ﬁ=§a:+34ﬁ=ﬂaﬁ.

Consider 1%['@[?.]1?0[ of 6" gana - in ﬂtmﬁ'@ﬁ oI under this condition by sutra
@ar%}'er: Qr: ;M come after ﬁl’@[ﬂ'l?orl

So this will be - forgg + e+ faq

In 2 2T is 3 so f2Id, hence W by 3/4/113 and it is 31T, so by mgmaﬁa
1/2/4itis %T—[ hence stops guna by FastaaT1/2/4

In a9 - Tis 3 so U, So [T is HIT:T?.TIF‘I_,E by 3/1/113 and since Tdd, so doesn't stops

guna.
Now it will be fore + 37 + fa,

Here from 2T point of view oI is 31397
From fa9 point of view (TG + 21) is 37597
Now in 37897 - ToIE contains 8 which is 3T¢T and also oTE, 5o is a oTEqY 37T

Since T is %T—[, guna of JIled el uaEd I 7/3/86 is prohibited by Fasfa = 1/1/5. Sono
guna.

forg +37 + fa = forg + 317 = forwfa

Page3 O

By. Srinivasa Swamiji
www.shastradeepika.org  srinivasownmail@gmail.com skype -adviatavedantastudy@outlook.com




Classification of YTds, hd & fAg pratyayas.

Samprasarna type-

Consider dhatu 9= Jfcarard 1413, 6th gana = 9T& in ¢ HdRYAET

9T& + ofc under this condition by aaﬁo ¥ A: A come after I=& Y|
So this will be - =& + o + fag

In 2r, o is 3c so T, hence AT by 3/4/113 and it is 37U , so by
qraurded AU 1/2/4 it is =4

) ~

In a9 - 9 is 3 so e, So faY is AE@UTIH by 3/1/113 and since T, so

doesn't stops guna.

We have U= + o ++ fa

Here from 2T point of view 9=& is 3131,

From fa point of view (9T& + ) is 37591

Now 3739T 9T& - is a non Sdl=d 3s9T. No provision for guna.

But 9= is followed by 2T, which is a f3d, so by 6/1/16 I of =& undergoes
samprasaranam and samprasaranam of { = % by 1/1/46.

o+ U+a=giygsad=aqxdqzgcaf

Now this % is followed by 31, so though possibility of JouT afe¥ is there, but
will not happen, rather by T9aRoTTg 6/1/108 both F & 37 becomes one

single #*.
TRIATTATA=9% 943 I = o,

qc_tﬂ(-l . etc.
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Classification of YTds, hd & fAg pratyayas.

Z.ﬁg pratyayas along with f&oT yega o for @E‘Iﬂﬂw HTds.

e As in earlier case, here also, there won’t be guna by fdg pratyayas,
due to 3/RI=d 37591(in other words non &RIed 37397) from fds stand
point of view. Hence question of guna by HIeTehrefendshar:-7/3/84
doesn’t arise at all and also there won't be guna by JIeddquasd o

7/3/86 due to various reasons.

e From 2T point of view, dhatu itself is an anga and doesn’t undergo

guna, because 2 is T3 by HIGEUTIHATIA 1/2/4, hence stops guna.
So we can safely assume that for gzrh'«rrur HTds.

o fag pratyayas like fa f& @& @& @ etc. will not cause guna.
e Also faF pratyayas along with 2 - fa&0or e like 3ifer 3ra: 3
3=d  will not cause guna to dhatus.

3

fare,
So WIAHUTT by 3/4/113

31ﬁ?[ hence f3, so doesn't

allows Guna and vriddhi.
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Classification of YTds, hd & fAg pratyayas.

Tables of ﬁg pratyayas along with f@&I0T 9ear 21 for {l,a'lﬁ'JTUT YTds.
Parasmaipada ﬁg pratyayas along with fd&oT yegr o for {l,ﬂ'lﬁﬂ'UT
(6"gana) dhatus in FIRTAT.

All these pratyayas will not cause guna to a dhatu, due to 2.
¢ RN - o wied g yeag A IR - o afka g geag
fa I | Hfea 37 FAH | 3]
It 37T 37 3 3dH 3d

wfA™® | 3mEr 3T sfar 3ma 3T
TS ThR - o Aied O geag fafRfas - o aika g swg
Iq A T T’ TdTH LBE
3 37aH 3 T TdH 15
3H 3 A wIH uq TH

v #Here special sandhi rules will happen by sutra HHTE:’F@I' 6/1/94 which we won't discuss.

" Here special sandhi rules will happen by sutra 3rar &t af> 7/3/101 which we won’t discuss
¥ Here sandhi rules AY + 3 = 3T + T becomes Ud by rule 3-Tl'c\‘:3;I'UT 6/1/87 also called guna sandhi.
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Classification of YTds, hd & fAg pratyayas.

Atmanepada fdg pratyayas along with fa&RoT wear @1 for qerfearor
(6"gana) dhatus in FIRAT.
All these pratyayas will not cause guna to a dhatu, due to 2.
¢ TFR - o gied Qg veag Al TR - o aftad [z v
3a @ Hedt IAH | TAH® | HedH
kirc) @ 3eq 3g TUYHC | 3eaH
o g’ e 4 EICH A
g kR - o Gfid g geag fafafas - o afa R vwug
37 TH® | 3Eas TUT. | WO | TEEAH
e smafy | AR L&) Tafy TATY

# Here special sandhi rules will happen by sutra 3-1?-|>I'3;I'@f 6/1/94 which we won't discuss.
*Here 3T becomes 3T by sutra 3rar Sraf I 7/3/101 which we won’t discuss

@ Here sandhi rules 7+ $c = 37 + I becomes Td by rule 31T¢_I[0T: 6/1/87 also called guna sandhi.

By. Srinivasa Swamiji

www.shastradeepika.org  srinivasownmail@gmail.com skype -adviatavedantastudy@outlook.com

Page3 4‘



Classification of YTds, hd & fAg pratyayas.

fearfe; aror: / ITqHaTOT: / Fourth conjugation

Consider 315 = 3T fagTa® 37l 1135 of 4™ gana - in 1€ AT

3Y + &I under this condition by sutra &aT{¢eT: 2IeT, 2T come after ?f?.]'l?afl

So this will be - 8 + QI + .

In YT (= T) M and o are 3 by 1/3/8 and 1/3/3, only T remains. So ¥« = .

Since f%\IT-[, hence '\’:I'IT:‘T?IIHQ?F by 3/4/113 and also it is 3@?[, so by Wﬂaﬂ{ﬂﬁ?[ 1/2/4
itis %T—[, hence stops guna by fFesfa o 1/2/4.

dis Q:ITE‘T?.]T@'EF by 3/1/113 and 3-]ﬁ'<'-[ Since d is 3-lﬁ'<'-[, so by aﬁmqmaﬁ?[ 1/2/4itis
%’F[, hence stops guna by TFFsTa @ 1/2/4.

Now it will be 3T + T+,

Here from e point of view 3Tis 33T,

from o point of view (3T + 2Te1) is 3133T

now in 37g3T 3T - Eﬂﬁ'é’ is present at its end, so this Wé’éﬁﬁ, which would have
undergone guna by sutra 7/3/84 Hﬁﬁ@ﬂﬂ‘fﬂwt, but gets prohibited by Fesfaa
1/1/5, because T is f??—[ So no guna.

A+T+d=T+Td=3d

Note — Consider ?,’I?g' in 1* gana which is also an atmanepadidhatu.
N+ AT+ by 7/3/84 =3 +31+ T by 6/1/78 =5 3 = 5T
The form of Y of 4™ gana is 3.

The form of 3Y of 1°* gana is 3T
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Classification of YTds, hd & fAg pratyayas.

Consider R IFA3d - 1165 of 4™ gana - in AT HARIINT

[T + I under this condition by sutra fearfee: o=, YT come after I YT |

So this will be - [T + T + a.

In YT (=) ™M and o are $d by 1/3/8 and 1/3/3.

So f§l?[, hence Hﬁw by 3/4/113 and also Hﬁ?—[, so by Hﬁmgmaﬁa 1/2/4itis %T—[,
hence stops guna by TFeFsTa @ 1/2/4.

d is @EAYTde by 3/1/113 and 3. Since T is 31fUd, so by AGETIHA A
1/2/4 it is T3, hence stops guna by FFsfa T 1/2/4.

Now it will be QH+ q+ ?f,

Here from T« point of view Qﬂis 33T,

From o point of view (R + RFeT) is 3TSIT

Now in 39T [T - guT contains 3 which is 39T and as well as oTE, so is a oTEqY 37S4T.
But 2T is %('-[, so guna of Jled el aaET I 7/3/86 gets prohibited by FFsfa = 1/1/5.

So no guna.
YA+ T+l = YA+ T = YA

Note — Consider =T (=Qﬂ ) 2ok, 183,1% gana, which is parasmaipadidhatu.

9

T 19 T by 7/3/86 = {1 29 ¥ = 2=y 31fdY = ef=fa.

Note - The form of I of 4™ gana, 1165 is ‘{l?qﬁ.

The form of [, of 1% gana, 183 is 2MATd.

Samprasarna type-

Consider &% dTsal 1181, 4" gana = &4% in IC I RTAT
ST + IS under this condition by sutra [&aTf¢e: I+, 2T come after Y 41q |
So this will be - 2218 + 2T=T + .

In YT (= ;) M and = are S by 1/3/8 and 1/3/3.
So fRIET, hence HTAETe by 3/4/113 and also 311U, so by HTAUTIh 31U 1/2/4 it is
EGH

<
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Classification of ‘c’—llgls, clgd\& i?—l% pratyayas.
In a9 - Tis 3 so T, So AT is '\El'l'ccﬁl'lT:I,? by 3/1/113 and since Tdd, so doesn't stops

guna.

We havecd¥ + I + fa

Here from e point of view ST is 3134,

from T point of view (ST + 2TeT) is 3753T

Now HSIT Y - is a non $dTed 3759T. No provision for guna.

But <T% is followed by I, which isa f3d, so by 6/1/16 J of cI¢ undergoes
samprasaranam and samprasaranam of J = 3§ by 1/1/46.
Fu+I+fd=gargaf=gsaga @

Now this g is followed by 31, so though possibility of IJul &% is there, but
will not happen, rather by I9aRu=d 6/1/108 both 3 & 37 becomes one
single S.

asyTfd=gsugafd=Tuafa
Here by sutras 31fd T 8-4-47 and STelT 12l I 8-4-53, which we were not

going to discuss.

fa ¢ 7 fd becomes @ g g 7 fd = faczafa

Similarly

g Hedram -1171. 4™ gana - fagaa
T 3GIHA - 1172, 4" gana - I
ot GaATedl - 1177. 4" gana - Joad
?fﬂm -1189. 4" gana —?fi—'Qﬁ etc.
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Classification of YTds, hd & fAg pratyayas.

3. fag pratyayas along with R&0T weaar 23 for feanfeeror emqs.

e As in earlier case, here also, there won't be guna by fds pratyayas,
due to 3/RI=d 37591(in other words non &RIed 37397) from fds stand
point of view. Hence question of guna by HIeTehrefendshar:-7/3/84
doesn’t arise at all and also there won't be guna by eddquesd o

7/3/86 due to various reasons.
e From I+ point of view, dhatu itself is an anga and doesn’t

undergoes guna, because I is 3 by HIGUTIRANIA 1/2/4, hence
stops guna.

So we can safely assume that for fe@mfearor rqs.
o fa% pratyayas like f& f& @& @& & etc. will not cause guna.
e Also fag pratyayas along with 23s - fa&or yea like Ifa Ia:
Id, A etc.will not cause guna to dhatus.

fare,
So WIAHTT by 3/4/113

31ﬁ?[ hence f3, so doesn't

allows Guna and vriddhi.
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Classification of YTds, hd & fAg pratyayas.

Tables of fag pratyayas along with fa&or yeaar eI« for fearfearor YTds.

Parasmaipada ﬁg pratyayas along with f@&or yeaor G for feranfearor

(4"™gana) dhatus in FIRTIT.

All these pratyayas will not cause guna to a dhatu, due to T.

oI olhX - 23«1 &fed fag vy

gfa Id: e
I T Ty
b1 7= Gl Ira:” A"

A TR - oo A fag weaa
) Iaq Id
ifer g9 e

I | FdH Iq
I 21 M B E

s - e afka s v
LE IdH ad
RRE I LE

20 #Here special sandhi rules will happen by sutra HHTE:’F@I' 6/1/94 which we won't discuss.

21" Here special sandhi rules will happen by sutra 3rar &t af> 7/3/101 which we won’t discuss

?2 Here sandhi rules A +3d = J + 37 +3d becomes I+ T = A by rule 31T€ 3[0T: 6/1/87 also called guna

sandhi.

By. Srinivasa Swamiji
www.shastradeepika.org

srinivasownmail@gmail.com

skype -adviatavedantastudy@outlook.com

Page3 9



Classification of YTds, hd & fAg pratyayas.

Atmanepada fag pratyayas along with fad&Ror Yeaar eI« for fearfeeror
(4"gana) dhatus in FIRYAT.
All these pratyayas will not cause guna to a dhatu, due to T .
T TN - o afed g geaa AN TR - o] afea g weaa
Id 4a@ REDd IaH, | IAHC | FearH
Ia JY@ ged ip=s) JorHe JeaH
2’ aEe’ | T I BICH RIEH)
g N - o7 Al g gemg fafafds - o= afea s v
g | e | gean Jar. | AT | Jeaw
2@ R IE 2 Jafg | IAR

# Here special sandhi rules will happen by sutra 3-1?-|>I'3;I'@f 6/1/94 which we won't discuss.
*Here 3T becomes 3T by sutra 3rar Sraf I 7/3/101 which we won’t discuss
@ Here sandhi rules 2T +3d = I + 37+ 3d becomes T + UA = Ad by rule 37Te 10T 6/1/87 also called

guna sandhi.
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Classification of ‘c’—llgls, Dd & ﬁl_S: pratyayas.

General Parasmaipada fag General Atmanepada fag
pratyayas for 5" and 8" ganas. pratyayas for 5" and 8" ganas.
olc oIhRR
G a@ | 3ied d | a3d | 3
I3 o o ¥ | WY | &
ml® | & v 7
AT TR
d | 9 3ieg a= | 3maw | 3Em
e | @ | @ @ | U | eaH
anfa | 3ma | A N E LS
g PR
a | a= | 3=
T | mam | 3
T ar: | 3 | eaw
I  m
L ¢ [ & |
fafafas
ad | T | g S | A | A
I | g | I gum: | darUTH | SEaH
QT = o] 3
So ) No )

farq,
So WA by 3/4/113

Hﬁ?[ hence i?ﬂ, o)

doesn't allows Guna and
vriddhi.

IR, so s

S

by JMHETIRA AV: 3/4/113

| fday srfea

so allows Guna and vriddhi.
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Classification of YTds, hd & fAg pratyayas.

Some special rules applicable in FaTfeITOT-25] and TATICITOT-3.
Here a5 comes after 3Rled 31371

Now we are studying 5™ gana and 8™ gana whose vikarana pratyayas are
respectively %] and 3, when these are added to dhatus we get 3&RlI=d 3{dTs, so
many common rules of 3%RT=d 31397 apply to both of these gana dhatus as shown

below.

In Atmanepada in both 5™ and 8" =T will replaced by 3d in @ic &I o5 as per
sutras ATcHAUCSAsId: 7/1/5, so we get respectively 3d 37dTH 3d in all three

lakaras.

Before starting discussion let us understand the words HJ1qd:, 3rEAEIqE: and
3TSiie Gea .

FITS: -

N

ANTYE: is a bahuvrihi samasa word and adjective, made up of two words H3TT
and Qﬁ here samyoga means samyukta akshara - conjunct consonant, purva

means preceding.
So HANTYS: means a varna which is preceded by samyukta akshara.

Eg - Consider 39 dhatu of 5" gana. We have 39 9 3ifed = 3019 & 3ifed = (39
s 3) 3ifed

Here (319 o1 3) is a 3%RIed 3597 and final 3R of 34T is preceded by
samyuktakshara - o -(H#JFdER:), so this 3R is called HIFARRYL: 3HR: or
TANYE: 3R

(39 o 3) 3ifed

AT 3R
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Classification of YTds, hd & fAg pratyayas.

IS

N

Similarly m?TCI‘\T:‘r means a varna which is not preceded by samyukta akshara.

Eg - Consider T dhatu of 5" gana. We have R e sifed =R g ifea =R a3
3ifea

Here in (T o1 3) 3ifed

(7T o1 3) is a 3FRI=d 37371 and final 3%R of 31397 is not preceded by
samyuktakshara (HgFd1ER:), so this 3HR is called JEIFAERYI: IHR: or IFHAEYS:
3Ih:

(T o 3) 3o

S

IEANYL: IFR:

HSiTfe-geay -

371efe is a bahuvrihi samasa word and adjective, made up of two words 3 and 37fe, here
31 means svaras 31f¢ means beginning, So 3SiTfe; means a pratyaya containing 379 varnas

at its beginnig.
Eg - consider pratyaya 3ifed of @< this is a 3TSlf¢-Icad
Similarly &< prathama purusha dvivachana Atmanepada 3Id is a 3iSe-9cdd etc.

We have shown all 3<Tf¢-9ea< in above tables by highlighting as shown. 3if=d etc.

Page4‘ 3

By. Srinivasa Swamiji
www.shastradeepika.org  srinivasownmail@gmail.com skype -adviatavedantastudy@outlook.com




Classification of YTds, hd & fAg pratyayas.

1) Consider g H pratyayas

1) AIRATEIAREIT Fal: 6-4-107
When pratyaya 9 or AY is preceded by a 3RTed 37547 and the final 3 of 31S4T is not
preceded by a H’{Ifl'_clT&W then under this condition 3 will become Lopa optionally by sutra

AT I IEIT 741 6-4-107.

In other words, if pratyaya @ or A is preceded by a the final 3% of a 39T which is
3-1'\'1?I>I?TC|¢\?§': then such a 3 will become Lopa optionally.

This applies both for 5" and 8" as both of them are 3hRTed 31ST.

2) AT HAA: Il &/8/20¢l

When pratyaya a8 or #Y is preceded by final 36X of 31397  of @(af) dhatu, which is
also a mquj:, then 3 will become Lopa compulsorily. So we get lep%‘ftl iﬂfftl

This sutra is an exception to 6/4/107

We get 3% which is 318I1TYd: and final of 3&RTed 315 in
A) 5" gana- T@IfeT - because of vikarana pratyaya % and if dhatu is 3TsTedl.
B) 8™ gana - d=TfGaIoT - because of vikarana pratyaya 3 for all dhatus.

So in these two ganas when the dhatus are as per above said conditions then

1) 3 of < () will become lopa optionally, hence we get two forms as either = or
.

S

2) 3 which is a vikarana pratyaya of 8" gana will become lopa optionally, so we
have two forms both --/ 3.

3) For 321(F) 81  of 8" gana, lopa of 3 is compulsory by 6/4/108.

Example -1. consider /& dhatu of 5" gana in &€ in d9. Then we have
Rgam=Rga=R"asg

& 5 3 is a 3FRI=d 3739 and dhatu ¥ is a 37sl=d dhatu, so by sutra 6-4-107,3 will
become lopa optionally, so we get @ & 3 a¥ = Rga/ R
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Classification of ‘Ellgls, Dd & ﬁl_S: pratyayas.

AILATEIIRETT 74T 6-4-107.

IEGEEE

Similarly in o€ in A4
= ‘\’a‘:l;ﬂﬂ} ﬁI'F[3'?FR=[we get two forms by virtue of 6/4/107 = ﬁﬂﬂ': / Rea:

Similarly in 1S in a/#, We get 3ife1d /31RId and 31fAA/ 31ReH

Also this applies in Atmanepada hence we get Risjae / Ri=ag, Rae /R,
afe/3iafe and sifgAfes -AR.

2. Consider parasmaipada 39 dhatu of 5" gana. This is a gded 4T, so 6/4/107 will
not apply, hence lopa of 3 will not takes place.
So MY IH is MY IH = 3Tea:, similarly oA, ITCAd, oA

3. Consider Atmanepada 37T dhatu of 5" gana. This is a geed YTd, so 6/4/107 will
not apply, hence lopa of 3 will not takes place.

So we have 3Re[de 3RHE 3IMREAAE  MRATE.

4. consider ubhayapadi @« T of 8" gana. We have a1 3 @

del 3 d: is @ 3%RI=d 33T and dhatu is a &eled ¥Td, So 6/4/107 will apply, hence lopa
of 3 will takes place optionally.

Hence we get d=d: / dda:, similarly deag / delde, dede/dedg 3ided / 3ded,

HdwH | AAH, ddwdfe / Adqdle, HdeAle / AT,
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Classification of YTds, hd & fAg pratyayas.

5. Consider ubhayapadi $%1(%) @1q of 8" gana. We have %3 a
% 3 T: is a 3$RIed 3} and dhatu becomes % of & becomes 3T by different
rules which we are not discussing here, so we get Y 3 d:.

Here final 3R of 3%RIed 3139 is not preceded by a H’gﬂ&ﬂ So by faer #:a:

6/4/108 lopa of 3 will takes place compulsorily.

II) Consider 3renfg-pratyayas of four lakaras.

a) We already know that for a 3fol=d dhatu of 5th gana, when %] is added, we get a
final 38R of a 37897 which is 3HIARIYL:, when this 3&K is followed by a 3nfa-

pratyaya then this 3&R is replaced by a&R(=d) compulsorily as per sutra 'g'?ﬂ?:l’r:
YIS 6/4/87.

Eg-TMegslca=Rgafa=(Raz) sta

here [ is a 3T5l=d dhatu and 37 is 3renfe-pratyaya.

3%R of a 37597 is FEAYL:, and followed by 3fed a 3rnfa-pratyaya. So 3 gets
replaced by g by sutra 6/4/87. Hence we get @ 7@ 3feqd = Rafza.
Similarly ¥ gt = [ o 3 = Rvga. R R fea etc.

b) In case of 8" gana for all dhatus, when 3 is added, we get a final 3% of a 31T
which is 3rEITYd:, when this 3% is followed by a 3mfg-pratyaya then this 3&R
is replaced by a&R(=d) compulsorily as per sutra §eJal: WU 6/4/87.

Eg - de1 3 3ifed = dealed similarly dedd dedrd aFcl;QT dedid etc.

Note - in 8" gana all are 3%R of a 37597 is always 3[HINIYE:, so always 3 becomes
g .

~

c) On the otherhand if dhatu of 5th gana is non 3TSled dhatu i.e. gel=d dhatu, then for a
such a dhatu, when % is added, we get a final 3R of a 3139 which is HIETYE:,
when this 3R is followed by a 3renfg-pratyaya then this 3R is replaced by 39
compulsorily, as per sutra 3RIRAETdsaT ZARTZAST 6/4/77

Eg - 3 9o 3ifed = 319 o 3fed = (39 & 3) sfed
here 39 is a 3sl=d dhatu and 3if=a is 3r=fe-pratyaya.
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Classification of YTds, hd & fAg pratyayas.

39N of a 33T is IHHANTYS:, and followed by 3if=T a 3=nfa-pratyaya. So 3 gets
replaced by @ by sutra 6/4/87. Hence we get 319 o1 d 3ifd = 3meafea.

Similarly 3121 o 37d = 3eaTd 3e%ad  HAATY 32WIdId etc.
9 Pl 9 Pl 9

) Consider madhyama purusha ekavachana @lic /&R pratyaya = &

a) We already know that for a 3fsfed dhatu of 5th gana, when % is added, we get a
final 3R of a 37891 which is 31HIANIYS:. After this type 3%R if pratyaya f& comes.

Then such f§ will get disappeared (3re2i=#) by term %, as per sutra 3d’d
TcIAEHAITYAT 6/4/106.

Eg- Megfeg = (e R ="fg
Here f& is preceded by 3{HANIYE: 3&R so gets TF. so .
Similarly & 40T 90T etc.

co

b) As mentioned earlier, in 8" gana all 3&%R of a 313 is always 3FEIIYE:, SO
always & becomes disappeared (3@i=#) by term .
eg - d13 &= a7 also JuI3 & =JU % etc.

c) We already know that for non 3Tsied dhatu i.e. geled dhatu, of 5th gana, when 5! is
added, we get a final 3% of a 33T which is mqg:‘r After this type 3&W if pratyaya fg&
comes. Then such & will remain as it is.

Eg - 319 & 3fed = 31 & = (317 7 3) & = 3.

Special note on FH FUT F UT:
Consider?f - QIHT:DT, in ﬁﬁlﬁ'&f in parasmaipada
In vidhi ling parasmaipada pratyayas begin with IJ&R, hence all vidhi ling parasmaipada

pratyayas are J&RIfG 9T or simply I1fe 9T, also they are all Hﬁﬂ@%i?ﬂpratyayas as
mentioned earlier.

We have % +3 + T as usual here ardhatuka pratyaya 3 causes guna by 7/3/84 so % becomes &Y,
hence itis &Y +3 + Il .

pratyaya ITd is Hléﬂlglelﬁ &, hence stops guna by fFasfa @ 1/2/4.
So we have (P 3) +ATA =23 I3 ITd
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Classification of YTds, hd & fAg pratyayas.

Under this condition, by rule 31?[3?—[3‘@211??? 6/1/110 3 of (% 3T Y) will get replaced by J'in all %T—[

HIGETTh FaZs .
So & 33 AT by 6/1/110 becomes I I3 AT = Y 3 ATd

Under this condition following rule will apply

X T 6/ 4 /109

The 3 which comes after G dhatu will undergo lopa compulsorily when followed by a

IJHRIE I .

%Y 3 AT, here by above rule 3 becomes lopa, so we get P A = ifﬂ‘l?[

Similarly Fafar 3: etc.

By. Srinivasa Swamiji

www.shastradeepika.org  srinivasownmail@gmail.com skype -adviatavedantastudy@outlook.com

Page4‘ 8



Classification of YTds, hd & fAg pratyayas.

Tables of ﬁg pratyayas along with f@&<or yeaor ¥ for FarfearoT HTds.

Parasmaipada g pratyayas along with f&Ror 9ear o for ¥a1fearor (5"gana) dhatus in FARwT.
All these pratyayas will not cause guna to a dhatu, due to .
oC ThR - o dfed g wemw AC TR - o afkd g veaa
ClIn] o =afed/ g T =ded)/
Tafed GIEEG)
Gl o] 2 T /3% oA oId
kil e S G Farfer arg TaTH
5 TR - o wfed s s fafafas - o7 ke Rz v
At L qd GRl AT, GRIC]
GER] wffa | FAA T T TITH
— — Both forms will apply for 3ts=a dhatu.
[T [TH: Only &fa: /siA: will apply for gefed 8T
Pl S
wafed/ Only blue highlighted form will apply for 31si=d dhatu.
ﬂaﬁd Non highlighted form will apply for geled €d.

Similarly this should be understood in other places also.
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Classification of YTds, hd & fAg pratyayas.

Atmanepada fdg pratyayas along with faRor 9ear o] for Faifearor (5"gana) dhatus in FARwAT.

All these pratyayas will not cause guna to a dhatu, due to .

¢ hR - o Tied fag e AC THR - o wid g v
ﬂFT o-dld‘/oqu-] o-d(-\llu;l,cl(-\l 1A waldH /| SacTH/=adr#H
CGIGIEE
Iy Fard/-arx e Elinbad
° ° > I | = / JeaH
= /o9 | e/Aae | THS/IHE GEIRIE
Ja SJardg FarHe
o3 oK - & Ffed fag geua fafafas - o afta @y veow
oJd FATdTH/ATH | ad/add wdrd / ATt/ A /
AU/ | AdH 2 T T
£ R S0 e /| SEmEnE /| FdeaR
i | wafe / qafe | wAfeAy aERIs || GRiacr; || e
= / =afe /| | sdmR /
Jdr Jdtafe GEICT

Both forms will apply for 3ts=a dhatu.

R | R

Only &1d: /7#: will apply for geled HTq

Only blue highlighted form will apply for 37si=d dhatu.

=ad/dad
Non highlighted form will apply for geled eTd.

Similarly this should be understood in other places also.
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Classification of YTds, hd & fAg pratyayas.

Cosider dhatu g’s’ﬂﬁ'ﬂﬁ 1247 5" gana, ubhayapadidhatu. =9

consider JHTq, in T HAIRIAT in parasmaipada.
gr +¢IC under this condition by sutra T Q;;r: 3173 Q;;r come after gmgl
so this will be - + %] + faq

In 957 2 is &cT so fRIc, hence HIAETTSH by 3/4/113. So ¥ =7

and it is 3119, so by aﬁu@maﬁa 1/2/4 it is T3, hence stops guna by fFFsfa @
1/2/4.

In fa9 - Tis 3 so U, So [T is HI'E?ET@'EF by 3/1/113 and Tdd, hence doesn't stops guna.

Now it will be§+o‘:|9'+ﬁ,
Here from %] point of view  is 33T,
from ﬁ'c[point of view ({_[ + ;Qr) is 3754T.

Now in 37T ¥ - guT 3 is present at its end, hence this is a 33Tl 31391, The Hocd 3R
would have undergone guna by sutra 7/3/84 Wﬂ@w:, but gets prohibited by
Fasfa = 1/1/5, because R is %T—[

Where as in 31591 (§'+ F__,r) -guT3is present at its end, hence this is also a $3Ted 31SIT from
ﬁ'c[ point of view, so this 3lecd 3% undergoes guna by sutra 7/3/84
HIAUTIHIUTETTRAT:, because AT is AIAUTI and U,

So 3 of of gets replaced by 37, so we get Q;To_-ﬁ% = Qil_,?-ﬂﬁ

Consider 8T, in ﬂ@aﬁﬁmin prathama Purusha dvivachana dd

+ ¥l +dd=Held:,

o] R =~ o B )

Here @: is HTATceh by 3/4/113 and also 311U, so by HTAUTeh 31U 1/2/4 it is 3,
hence stops guna by f&esTa T 1/2/4.

So unlike ﬁ'c[it won’t allow guna for anga, so (Q;H o‘i) +d: = Yol etc.
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Classification of YTds, hd & fAg pratyayas.

Consider Qg‘ETIF;[, in Raﬁwm Atmanepada.

G+ A=A,

d is @EHTde by 3/1/113 and 31fUd. Since o is 3, so by WEUTIHA AT
1/2/4 it is 3d, hence stops guna by Fasfa o 1/2/4.

So unIikeﬁ'C[it won’t allow guna for anga. So (§r+§)+ﬁ=§§ﬁ etc

Cosider dhatu & @=rer 1251, 5™ gana, ubhayapadidhatu.

consider T, in T AR in parasmaipada.
= + &< under this condition by sutra TaTEE: 9&]: 3173 9 come after [T €|
so this will be - T + 957 + A9

In €57 2T is 3c so f2Iel, hence AT by 3/4/113. So & =5

and it is 3179, so by Wﬁﬁ?[ 1/2/4 itis 3, hence stops guna by fFFsfa @
1/2/4.
In fJa9 - T is & so T, So faT is W by 3/1/113 and T, hence doesn't stops guna.

Now it will beﬁf+o‘-or+f3,
Here from %;or point of view Tis ST,
from ﬁ'c[point of view (T + o) is 37S9T.

Now in 3754 = - ?:I'Uﬁ'g is present at its end, hence this is a 39T 31S9T. The Hecd TR
would have undergone guna by sutra 7/3/84 Hléﬁﬂﬂﬂﬁﬁﬁﬂw:, but gets prohibited by
fFFsfa @ 1/1/5, because ¥ is 3.

Where as in 31547 (ﬁr+ ‘Ti) -guT3is present at its end, hence this is also a $9Tecd 3139T from
ﬁ'q: point of view, so this 3lecd 39X undergoes guna by sutra 7/3/84

Hﬁﬁﬂ@ﬂm@w; because faT is Qzl'lé‘iﬂF__I,? and [Oq,

So 30fo_:3rgets replaced by 31T, so we get rarfa=eafa
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Classification of YTds, hd & fAg pratyayas.

Consider ﬁfﬂ'l?of, in Fl'c,fEhT-‘Iﬁ'qTﬂ?T in prathama Purusha dvivachana a8

=+ Q;or+aq=1%;oraz,

Here d: is '\’:I'IT:‘T?IIHQ?F by 3/4/113 and also Hﬁ?—[, so by Hl'q"ﬂ@w&lﬁ?[ 1/2/4itis %T—[,
hence stops guna by fesTa T 1/2/4.

So unlike ﬁl’c[it won’t allow guna for anga, so (I + ;or) +d:= ﬁﬂ?f: etc.

Consider ﬁ‘ﬂ'@, in o€ A RYIAET in Atmanepada.
=T+ %o_:l;+ a= ﬁrsor?r,

d is @EaYTde by 3/1/113 and 3. Since T is 31fUd, so by HGETIHA 3
1/2/4 it is f3d, hence stops guna by FFsfa T 1/2/4.
So unIikeﬁ-I'C[it won’t allow guna for anga. So (ﬁr+§)+?f=ﬁfﬂﬁ etc

Similarly 3TE, (=31T9) SITCAl 1260, Parasmaipadi, 3TCaAlTl

AL (= Ach) QTadl, 1261, Parasmaipadi, allTa
37 =Tl HgET ¥ 1264, Atmanepadi, 31%ed
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Classification of YTds, hd & fAg pratyayas.

Tables of ﬁg pratyayas along with f@&9T Yegaa 3 for qemrfesror YTds.

Parasmaipada fd3 pratyayas along with f@@R0r 9eaar 3 for d=feeror (8"gana) dhatus in HARYT.
All these pratyayas will cause guna to a dhatu, due to 3.

C ol - 3 aRRd g geag AT dhR - 3 glea g g1
3t 3d: afed 3 EQict el
A 3 37 = p— =

5 : : [3H:
I liE: g: /39 a3 =

T8 R - 3 aftd g yeIw fafafas - 3 afta g wag
3Nq 31 ae] ERIC) 3T T
s s S

3 374 = 3T 3ATdH 3T

3aH al 3a A3H S — E—
Here 3 becomes lopa by & T 6/ 4 /109 for
% €rqd only.
We should use Irq I1dTH etc.

g: /3a: H: /[3H: I

Both forms will apply for all dhatus.

For & 4T we have only d:/ #: because 3 undergoes compulsory lopa by e

FUT: 6/4/108
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Classification of YTds, hd & fAg pratyayas.

Atmanepada fa% pratyayas along with R&0T Ycgar 3 for a=ifeamor (8"gana) dhatus in FARTAT.
All these pratyayas will cause guna to a dhatu, due to 3.

AT PR - 3 Wik s v dic TR - 3 ald g weag
4 |ad ad 3am | a e,
3N ary 3e — T Stan
q dg/3d¢ | He/3HE P 3T 3T

o3 o - 3 dfed fag geag fafafers - 3 aRka fog v
9T > dra CIRIGIE | IR
34 CIEICY 3edH

dra: drrH | dieaH
Gl afg / 3afg | Afe/3dR

a drafg drAT

ae/3a8 | He/3EE |

Both forms will apply for all dhatus.

For & &1d we have only ge / Ag because 3 undergoes compulsory lopa by @@
FUd: 6/4/108.
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Classification of YTds, hd & fAg pratyayas.

Cosider dhatu @ fa&aR 1463, 8" gana, ubhayapadidhatu. @ = el

consider o] — %T@ in (‘»I'c,f?ﬁ-‘lﬁ'WT parasmaipada.
el + o€ under this condition by sutra TG ¥1: 3173 ] come after del UT ]|
5o this will be - deT + 3 + faq

3is 3-Tf5l?[, hence Eﬁw by 3/4/114 and it is Hﬁw_c[ & 3-T%T-[, hence doesn't stops guna.
In a9 - Tis 3 so T, So AT is HIT:TW by 3/1/113 and Td, hence doesn't stops guna.

Now it will be o1 + 3 + fd,
Here from 3 point of view dd is 3154T,
from fAT point of view (e + 3) is 375T.

Now in 3TS9T el - is a non $9Tec] 31391. No provision for guna.

Where as in 3139T (el +3) - guT 3 is present at its end, hence this is a 33ed 37597 from faq

point of view, so this 3lecd 39X undergoes guna by sutra 7/3/84 mgam‘rﬁn@a:a’rz,
because T is Fl'ccf‘EII'IT:IDEF and a4,

So 3 gets replaced by 31T, so we get Hﬂ:ﬁﬁ GG

Consider el - 8T1d, in Fl'c}'ah_c‘lﬁmin prathama Purusha dvivachana a8

ded +3+dd=de3d;,

Here d: is QZI'IT:‘T?.TIF‘I_,T:F by 3/4/113 and also 3-1&!?—[, so by mgm{saﬁa 1/2/4itis %T—[,
hence stops guna by TFeFsTa o 1/2/4.

So unlike ﬁ'c[it won’t allow guna for anga, so (del 3) +d: = dedd: etc.

Consider del - ©1q, in ﬂtmin Atmanepada.

del +3+d

Here o is ®IGETds by 3/1/113 and 3. Since o is 31fdd, so by HTqUTIHA
31T 1/2/4 it is T3, hence stops guna by FFsfa T 1/2/4.

So unlike ﬁ'c[it won’t allow guna for anga.

So (del + 3)+FT=<‘-I§FT etc

Pages 6

By. Srinivasa Swamiji
www.shastradeepika.org  srinivasownmail@gmail.com skype -adviatavedantastudy@outlook.com




Classification of YTds, hd & fAg pratyayas.

Consider dhatu 33T FIOT 1472, 8" gana, ubhayapadidhatu. SPA=F

InS%h3 both 3 and 3 are §d by sutras 1/3/5 and 1/3/3, only &% remains. So
Scha] = <h.

S2C ~ c

Consider % — &Tq in T AR parasmaipada.
% + o< under this condition by sutra Fl?-ﬂﬁ\ilcﬁﬁ-'qt 3: 3/1/79, 3 come after & HIq|
so it will be-a(:7+3'+ﬁ'c[

3is 3-TfQ\IT-[ hence 3-1T?ff?11§'05 by 3/4/114 and it is 3-1‘%07—[ & 3-1‘%?[ hence doesn't stops guna.
In fa9 - T is 3T so T, so fAT is Q:ITE‘T?-TI'HQ'EF by 3/1/113 and T9d, hence doesn't stops guna.

Now it will be 3 + 3 + T,
Here from 3 point of view & is 34T,
from ﬁ'c[point of view (§ +3) is 3759T.

Now in 3-13?T3|§ - EI'USTEIFFIT is present at its end, hence this is a $9Tecd 3139T. This 3fecd
F R undergoes guna by sutra 7/3/84 Fﬁmﬂwﬁﬁﬁﬂw: because of pratyaya 3
which is Ardhadhatuka and also non-fehd & non-f3d.

So PR gets replaced by its guna 3

SoF+3 + fd becomes X +3 +

Now in 3739T (&Y + 3) - guT 3 is present at its end, hence this is a §3TecT 31397 from fag

point of view, so this 3ecd 35X undergoes guna by sutra 7/3/84 m@w;
because AT is H'IT:‘TY:TIT:I)EF and 0,

So 3 gets replaced by 37, so we get Rﬁﬁ = FATT

Consider & —¥Td, in Wmin prathama Purusha dvivachana dd
% +3+dd=h3d;,

Here ardhatuka pratyaya 3 causes guna by 7/3/84 so Gl becomes &h{
Pratyaya d: is H‘I‘&W@E%T—[, hence stops guna by TFFsTa o 1/2/4.
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Classification of YTds, hd & fAg pratyayas.

Sowehave (Y J)+d:=H A I I d:

Now we have &Y 3 d:. Under this condition, by rule 3/ 3q @mderdgs 6/1/110
37 of (& 37 Y) will get replaced by 3 in all f3q @dUTdR Teags like d: o I1d etc.

% A Y3 d: by 6/1/110 becomes & 3 T 3 d: = I 3d: = Foc:

Consider & - ©Td, in T HARWANT in Atmanepada.
E(If +3+d

Here ardhatuka pratyaya 3 causes guna by 7/3/84 so Gl becomes &h{
Pratyaya d: is Q:ITE‘T?.]TFIQ'EF%?[, hence stops guna by TFFsTa @ 1/2/4.
Also by 37 3q @rdurds 6/1/110 Y becomes FX.

So T + 3+FT=W etc

Consideralj - ‘EZI'IT:DT, in ﬁﬁlﬁl’s: in parasmaipada.

In vidhi ling parasmaipada pratyayas begin with IR, hence all vidhi ling parasmaipada

pratyayas are JdRIlG 9cdd or simply I1f¢ Icad, also they are all HI'c?ﬂ'IT—ﬁ%T—[pratyayas as
mentioned earlier.

We have % + 3+ Il as usual here ardhatuka pratyaya 3 causes guna by 7/3/84 so & becomes &Y,
hence itis Y +3 + T .

Under this condition as mentioned earlier, pratyaya ITd is H‘I’c&ﬂ@?%?—[, hence stops guna by
fFersfa = 1/2/4.

So we have (Y 3) +ATd = A L3 ITd

.Under this condition, by rule Hﬁﬂmﬂﬂ? 6/1/110 3 of (e 3T ) will get replaced by Fin all
%’F[HT&HT@H?WS .So

D3T3 AT by 6/1/110 becomes H3I I3 AT = P 3 AT

Under this condition following rule will apply

T T 6/ 4 /109

The 3 which comes after % dhatu will undergo lopa compulsorily when followed by a

IJhRITS Iy .

FY 3 AT here by above rule 3 becomes lopa, so we get FL I = SWH

similarly in all vidhi ling parasmaipada this sutra apllies, so we get FaTdH F: etc.
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Classification of YTds, hd & fAg pratyayas.

General Parasmaipada fag General Atmanepada a3
pratyayas for 9" gana. pratyayas for 9" gana.
olc oIhRR
@ & | aea CECRES
& g: q q 3y | ed
& g o Ear )
AT dHR
4 | | | s |
o | @ | @ @ | muE | 9
anfer | 3ma | 3 N E LS
CERRCEAtY
q | 3e] T | sam | 3a
q aH d U | o
g | ar | a%
fafafos
aq | AT g $d | AR | S
| A | A SUm: | SATAR | geaH
T ST R T $¥ | zafe | $AR
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Classification of YTds, hd & fAg pratyayas.

faq,
So HIAHTT by 3/4/113

3’Iﬁ?—[ hence f3d, so doesn't

allows Guna and Vriddhi.

QATFITIART: 6/4/112

The 3T&R(3M) of pratyaya 2T and Abhyasta will get lopa, when followed by fhd / f&1
sarvadhatuka pratyaya.

Here we are concerned with 2T only, whereas Abhyasta is dealt in 3™ conjugation.

§ gogel: 6/4/113
The 3T (31M) of pratyaya =T and Abhyasta barring ¥ class dhatus, will become IFR (3),
when followed by gelif¢ sarvadhatuka fehd / T3 pratyaya.

In above two sutras we are concerned with 2T only, whereas Abhyasta is dealt in 3™
conjugation.

We can safely conclude from two sutras about 3TehIY(31T) of pratyaya <@T.

i) The 31T of =T will get lopa, when followed by 37STT{¢; sarvadhatuka %/ %T—[ pratyaya.

i) The 3T of 2T will become &, when followed by geTfe; sarvadhatuka fohd / &
pratyaya.

gol: =T AToHl 3-1-83

When =T 9cdd comes after a gelod YT then =T will get replaced by el when
followed by & 9cad.

AT = 3Tl here Y and T are Sd by sutra 1/3/8 and 1/3/3.
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Classification of ‘E—Ilgls, clgd\& i?—l% pratyayas.
JTETOT 91T etc.

Note - since RMMeloled 3T is 3hRI= 37591, so f& Y& will become % by 3l ¢
6-4-105.

Consider all these table of fJdg 9caa along with =TT is given four sarvadhatuka lakaras.

Parasmaipada fds pratyayas along with fa&Ror year @1 for #Fafearor (9™"gana) dhatus in FaRwANT.
All these pratyayas will not cause guna to a dhatu due to 2.

¢ PR - o wled g v A IR - o #fed Qg g
AT GIGE Afed AT Al | Fed
Ty ofrer: ofrer A Bl |Aem | e
A GICE eie:) sTfeY GIC) 1A

S TR - T Afd g g afafes - o afa s g
Al AN Al oA cipicr: S )
T i il ArRITH BRI ArTH

@ Here For geled YT like 3% add 3TTe1. Eg. I[@T0T Fermed
For 3tsfec &Tq like 3T add =iIfg. Eg.shroffg
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Classification of YTds, hd & fAg pratyayas.

Atmanepada fdg pratyayas along with fa&<or g =T for Fa1fgeror (9"gana) dhatus in FARYANT.
All these pratyayas will not cause guna to a dhatu due to .

AT TFR - oo afed A5 v

oI ofhX - e wfga fag g
s AT d
Ay GIk) g
C QIER) QIER)

sireg SATATH g
o sITag A e

oIS R - < dfgd fAg geag
Cic) STt ad
=T ATATH SreaH
for safe fAfe

GG ST, AR
STeT: ARTAH | SredH
A Aafg AT
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Classification of ‘c’JISIs, clgd\& i?—l% pratyayas.
Seh1S oAl 1473 9" gana — ubhayapadidhatu. Zeh1sT = AT

In 35hIST both § and  are 3 by sutras 1/3/5 and 1/3/3, only SAT remains. So ZshTaT = 3T,

Consider €IT] S3h13T in o el RodTaT

= ©IC under this condition by sutra FITE: 2T 3/1/80 =T comes after ST EJI'IT:_[I

So this will be - 3T + 2&T + faq

In T - 2 is 3d so T2, hence H‘Iﬁiﬂ@iﬁ by 3/4/113 and it is 31T9d, so by FI'C‘PZI'IT:EH:[
310d 1/2/4 it is T3, hence stops guna by fFasfa @ 1/2/4. a1 ==

In fJa9 - T is & so U, So faT is W by 3/1/113 and T, hence doesn't stops guna.
Now it will be 3T + €T + ¥,

Here from 2T point of view $h is 31391

From T point of view (shT + =1T) is 31397

Now in 3-1'?3’3T£f - Eﬂﬁ'é’ is present at its end, hence this is a $Ted 3159T. The ecd échI{
would have undergone guna by sutra 7/3/84 Hﬁiﬂﬂwﬁﬁﬁﬂw but gets prohibited by
fFarsfa T 1/1/5, because =T is f3.

Where as in 31397 (@f + Q) - got 31T is present at its end, hence this is a non Sdled 33T

from %’C[point of view, hence no provision of guna.

SoshT + QAT+ A =shT + T+ T, here & of AT becomes UT by sutra
JcHTarsFeadraias || 8/2/4. so we get
Pol Pl

$r+om + 3 = ronfa. Similarly shronf&, shronfa

Consider @I’—‘Eﬂ@ in F—I’c}'min prathama Purusha dvivachana d¥
ST + Q&1+ A = ST AT T,

Here no guna, both by Sardhatuka pratyaya 21T and by pratyaya d:.

So we have (ﬁf Al + d: = T T
Now we have I & 3T d:. Under this condition, by rule § geIaT: 6/4/113
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Classification of ‘c’JISIs, clgd\& i?—l% pratyayas.
31T of Q& will get replaced by $ in all 3 TduTg® Feads like d: d etc.

$hI of 3 : by 6/4/113 becomes #hI 7 § T, here also & becomes UT as
mentioned earlier. So we get $I T § d: = shofa:

Consider ?ﬁf—‘iﬂ@, in ﬂtaﬁﬁmin prathama Purusha bahuvachana 1?[

$r + AT+ By =frar3ifea = il F 3 3fea

Under this condition, by rule TFIEAIRTA: 6/4/112 3T of 2T will become lopa.
$r o 3fed = Flfed and by cHearsefFeaarIsi 8|4|2 Ulca#H

So we get Hrorfed.

Consider g7 - erd, in T AR in Atmanepada.
T +@AT+T

Here no guna, both by Sardhatuka pratyaya ?<1T and by pratyaya .

So we have (T 2aT) +d = bl o 3T o Under this condition, by rule g gear:
6/4/113

3T of QT will get replaced by § and @ becomes U by 3cFHeargefreaaraidll 8/2/4
So we get HI U1 § O = Fhioflia

g 3916l 1533, 9" gana — ubhayapadidhatu. In 31g, & remains.

Consider €T 9% in oI A RGN,
9% + oI under this condition by sutra FATTEI: Q=T 3/1/80, 2T comes after UJ%:?-J'IF_,[I

So this will be - IE + AT + fAq

In QAT - 2Tis 3 so T2, hencemﬂﬁby 3/4/113 and it is 3T, so by m?:‘rm?fm
3-1‘I:EIT-[1/2/4 it is f??—[, hence stops guna by Fasfaa 1/2/4. 1 =47

In fa9 - Tis 3 so U, So [T is 'H'Iéﬁ'l?:l)? by 3/1/113 and T9d, hence doesn't stops guna.
Now it will be 3% + =TT + ¥,

Here from U point of view g is 37SdT

From fa9 point of view (TE + aT) is 3T

Now in 3ZdT IE - is a non $dTec 3TSIT. No provision for guna.
31z Ig is followed by 2=Tis i3, so by 6/1/16 T of II& undergoes

samprasaranam and samprasaranam of Y = 3 by 1/1/46.
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Classification of YTds, hd & fAg pratyayas.

So we get MTHA T + 9T + f3. Under this condition 3 _31

Now this 3 is followed by 31, so though possibility of IJuT &% is there, but
will not happen, rather by I9aRo=d 6/1/108 both F* & 37 becomes single
*.

So we get MHE +T+fd = g + &=+

Where as in 37T (3] + 21T) - guT 3T is present at its end, hence this is a non Sdlocl 31591

from ﬁ'c[point of view, hence no provision of guna.

So Tg + AT + T = I[E+ =T+ f, here = of #T becomes U by sutra

Jeprars(FeadrAT|l 8/2/4. So we get

g +0 +fd = JEonfd. Similarly TEonfd, IR

Consider 9% —¥Td, in Rmin prathama Purusha dvivachana dd

TE + AT+ TG = Tg o

Like in earlier case, here also 3§ becomes U by sutras 6/1/16, 1/1/46 & 6/1/108
So we have (?‘I}: AT +d: = Ll I | AT d:

Now we have 3[& = 3 d:. Under this condition, by rule g gogdl: 6/4/113
31T of Q=T will get replaced by § in all 3 WduTg® Feads like d: & etc.

9% o 3 d: by 6/4/113 becomes & o g d:, here also o becomes UT as
mentioned earlier. So we get I[&_U1 § &: = J[E0ld:

Consider & —QIHT:DT, in Raﬁﬁmin prathama Purusha bahuvachana 37

g + @+ = Tqg &7 3fed

Like in earlier case, here also 3§ becomes U by sutras 6/1/16, 1/1/46 & 6/1/108
So we have (?(IF\ %aT)+34‘%cr= e o K;ll 3fed

Under this condition, by rule TFIEAARTA: 6/4/112 3T of 2T will become lopa.
IE_o Afed = IEafed and by cFHeargredards™ 8|4|2 vicas Ievried

Page6 5

** For details see paribhasa sutras.
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Classification of YTds, hd & fAg pratyayas.

Consider 9% —H@, in H@Win @i madhyama purusha ekavachana fg
T + @A+ 3= T8 o1 1§
Like in earlier case, here also 3I& becomes U by sutras 6/1/16, 1/1/46 & 6/1/108
So we have 9§ + @il + f& under this condition by &eT: 2a1: MTo31T 3/1/83 we get
IR + AT + &= g + 3T + g by 31l & 6-4-105.% is o[ , hence we get
= J[g + 30T = @A, now as usual UTca# by IEFearslraarisia 8|4|2. So we get

ITETOT

C

Consider Ig - ?.]TFQT, in ﬂtaﬁﬁmin Atmanepada.
IqE + AT + a

Like in earlier case, here also 3I& becomes U by sutras 6/1/16, 1/1/46 & 6/1/108
So we have(UIE %a_-lT)+?f= e o 3l a
Under this condition, by rule § gezaT: 6/4/113

31T of 24T will get replaced by § and # becomes T by ﬁq?bq|§~o1+cqq|qﬁll 8/2/4

So we get I UL § O = eI etc.
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Classification of YTds, hd & fAg pratyayas.

2" and 3™ ganas

Note — In el

% Among 9 pratyayas of parasmaipada,

> Only 3 pratyayas - faq f&@q fA9q - are ™d , hence allows Guna.

> Remaining 6 pratyayas - d: etc. are 39d so f3d by 1/2/4.

% Among 9 pratyayas of Atmanepada,
> All 9 are 319 so f3d by 1/2/4.

Consider dhatu fa¢ JsY 2" gana, 1064 parasmaipadi.
In fag 37 is 3 by 1/3/2, so fag remains, hence fag = fag

Consider fa'a:iT@, in oI SARIIIT

fdg + o€ under this condition by sutra 3/1/68 219 comes after fé?(\ﬂ'l?;f I
So it will be - fag + eq + faq

Now 219 will become e&*° (= 3t&dfei#) by fewsfas: era: 2-4-72.

So we have fag +faq
In a9 - Tis 3 so T, So AT is mﬂﬂ? by 3/1/113 and T9d, hence doesn't stops guna.

Now 375dT ﬁa: contains § which is 38T by1/1/65 and also o€ by 1/4/10.

So ﬁa:is a oTe[UY 37T, so guna takes place by JIledeTgIaET I 7/3/86 and S becomes T .

fag +fdq = 9g + fd , under this condition g of dg becomes T
So we get d¢ + fd = aq fd = dfcd.

Similarly afca, afar.

» o = 313%1?74:[— A type of disappearance- See sutra 1/1/61
26 .
See book sandhi rules 2
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Classification of YTds, hd & fAg pratyayas.

Consider ﬁ'c\': —91q, in ﬂ@mﬂ in prathama Purusha dvivachana a8
fag + &1 under this condition by sutra 3/1/68, 9 comes after ﬁ'c{f-l'l?{[ I

So it will be - T4 + 2 + T

Now 219 will become (= 37exleTd) by fewsicier: ard: 2-4-72.
So we have fag+aqg

In T is 31U, So o is AT by 3/1/113 and 31U, so {3 by 1/2/4, hence stops
guna by st 1/1/5,

Here, though 3183 fd¢ contains § which is 39T by1/1/65 and also og by 1/4/10.
So ﬁ?{a HEFUHS?T would have undergone guna by sutra eI TeTgET oI 7/3/86, but

gets prohibited by TFFsTa o 1/1/5, because a4 is %’F[
fag +aq = &g + @ under this condition g of f&g becomes T’
So we get [aq + &: = faq a: = fdca:. Similarly fac¥r: facy fagg: o=

Similarly consider Tdg in prathama purusha bahuvachana. As explained

earlier it will be g + &% = fag 3ifed = fagled

%7 See book sandhi rules 2

% see sutra Slled: 7/1/3
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Classification of YTds, hd & fAg pratyayas.

3T 39aes 1021, 2™ gana, Atmanepadi = 3T

In 31 37 is 89 by 1/3/2, so 3T remains, hence 3¥H = 3

31T + oI under this condition by sutra 3/1/68 9 comes after 3TH 4T |
So it will be - 3TH + QTC[+<_-T
Now 19 will become o& (= 37exieTd) by 3fewesfasar: e 2-4-72,

So we have I +d = 3&d

In prathama purusha dvivachana 3Td is

3T + AT = 3T etc.
3 + 3 by HcAaUCSTsId: 7-1-5 31 becomes 37d, so 3H + 3d = 3¥d

3T TG 3T
IMTEY AT 3mea?d
I 3ag AR

Consider Dhatu ST fafere™® 2nd gana
Here there is no gd, entire dhatu S9] remains as it is.

Observe SI9] = S 3T 9T &, contains more than one 37, so 3ol BIGE
Considera'l?'([ i]'lf_[, in ﬂ@'m

11T + oI under this condition by sutra 3/1/68 19 comes after ST19] €T |

So it will be - ST + 19 + faq

Now 219 will become (= 37exleTd) by fewsfarsr: ard: 2-4-72.

So we have ] +faq

In T - Tis 3 so T, so faT is E‘I'C?EI'IT:IDE by 3/1/113 and T9d, hence doesn't stops guna.
Now in 3SdT SITd] - a‘Uﬁ'Eh__ is present at its end, so this 3lecd FhIX undergoes guna by
sutra 7/3/84—8'@‘?11@?[?1‘[?11@@7:, and ¢ gets replaced by 3TX.

So we get IPR fd = ST, Similarly ST, SFTarfey

* Here § of 37 becomes Lopa by T& T 8/2/25. Details are beyond the scope of this book.
** Observe H becomes ¥ by 3T YcaaaT:8/3/59
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Classification of ¥Tds, d & fAg pratyayas.

In prathama purusha dvivachana d¥ etc. As mentioned earlier 19 will be added
and becomes .
So we have &9 + d: = SE[d:. Similarly ST ST SIE[d: - SETA:

Consider ST in prathama purusha bahuvachana 3. As mentioned earlier 219 will
be added and becomes e%. So we have ST + =r

Under this condition 127 is sarvadhatuka 31f9d, so 3, hence wont allow
guna, but will be repalced by 31!,

This happens because &9 is a dhatu called 373IJ¥d by sutra Jfeieded: e
6/1/6 and for a Abhyasta dhatu, 31 will become 31d by 3¢&ITdrd 7/1/4, so
& will be 31fd, hence S + 31 = SW+31fd now by IUT sandhi & becomes
I, so we get SEITd.

I SEfeT: S
CIEIR] STET: ST
I ICIIE:] SETE:  SAEH:

Consider STd] 4T, in WQWWW

SI19] + oI under this condition by sutra 3/1/68 19 comes after ST1e] €1q] |
So it will be - ST + 219 + f&¥

Now T will become &(= 3ERTH) by rfewsrfasa: erd: 2-4-72.

So we have ST + =1

Here by sutra fasregeafafeeaea 3/4/109 & will be | (39)

S+ = SR+ = S+ o = S+ 3

Now though 3 is 31T |rEaUTde yet by S = 7/3/83, J[H causes guna of
anga’s S& letter F;. Hence we get ST + 3H and as usual 3¢ agama also
takes place, so we get 39T%:

3T HSIEH. 3HSTTETe:
W IENEAA. ST
IOERA 3T kicicie)

c

3 Normally for all other parasmaipada dhatus of 2" gana, BT is 31T by sutra Sied: 7/1/3
%2 Details of this form is not discussed.
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Classification of ¥Tds, d & fAg pratyayas.

Under certain conditions dhatus are reduplicated (=doubled), this topic of

reduplication is called gfdcd WehuTH (dvitva prakaranam) in Ashtadhyayi.
This dvitvam (reduplication) is dealt in two places,
e First in sixth adhyaya first pada from sutra 6/1/1 to 6/1/12, this is
called ST gfded 9eul. Now we are studying this.
e In eight adhyaya, which we are not dealing now.
qateara: 6/1/4
4 ¥ eg ARATEH Jehol ol I: qd: &: NeATE-Toaieh: Hdid |
Where reduplication is done, the first of two is called 37&J1d Abhyasa.
Eg - gora Rafsw s@ife Refy sare |
> 9g in faIT becomes YU, here T which is first of two, hence called as
Abhyasa.
> § in &1 becomes Sglfd, here 5 which is first of two, hence called as
Abhyasa.
> For 9& when @ is added, it becomes TAUfdsT, here @ which is first
of two, hence called as Abhyasa.
> a9 in faIT becomes 3drd, here 3 which is first of two, hence called
as Abhyaysa.

30 3FIEIH 6/1/5

¥ g fafgd d 39 FARA 3sIEag=1 Had:

Where reduplication is done, both are collectively called Abhyasta.

Eg. garst &= 3™ gana, 1091, ubhayapadi. & remains.

In & fa9 dhatu gets doubled and other rules get applied finally we get
gar fa (= ga1fa), here ggaT is Abhyasta and & is Abhyasa.

Note - Abhyasa and Abhyasta have many rules of which we are

discussing just Abhyasta which is required in parasmaipada prathama

purusha bahuvachana of @€ &< and &g

v For dhatus of 3™ conjugation in all Sarvdhatuka lakaras, because
these dhatus undergo &fded (reduplication) by 6/1/10.

Page7 1
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Classification of ¥Tds, d & fAg pratyayas.

v For a set of 7 dhatus of 2" conjugation - 3787 o119 ete, which are
called Abhyasta by 6/1/6, though they don’t undergo gfdca
(reduplication).

Jfecaey: e 6/1/6

The dhatus 1071 ST&T 1eTeq=TaT: , 1072 9] figrerd, 1073 ERer gatal, 1074 Tehg
&rett, 1075 &refig QftaeasTar:, 1076 ddig afda Jed of 2™ gana are called as
Abhyasta.

These dhatus doesn’t undergo gided (reduplication) yet are called as
Abhyasta for the sake of grammatical operations.

Under below given conditions gfded (reduplication) of dhatus takes place as
per sixth adhyaya sutras

. fofecuraReearaeT 6/1/8 In foic eg - 9IS

.  H=gsT: 6/1/9 In T & TF eg - UfeNTd & ITIGTT respectively.

lll. 2ot 6/1/10 when followed by 2. Eg - &aTfcl
In 3" conjugation sarvadhatuka lakara kartari prayoga, when 29
undergoes ] (= 31¢A#) by 2/4/75, under this condition dhatu
preceeding e will undergo afdea by 6/1/10.

Consider dhatu Z3]3( #OT 1087, 3" gana, ubhayapadidhatu. ST =9

In33>1 both § and 3 are $d by sutras 1/3/5 and 1/3/3, only & remains. So

Consider S{—UIT;T in ﬂ@m parasmaipada.

3] + 1€ under this condition by sutra X QT 3/1/68, AT comes after ] 9Td|

So it will be - 8] + & + faq

Now 29 will become 9 (= 3iedeia) by SElcaTfesT: e 2/4/75.

Soitwill be- 8+ +faq

Under this condition dhatu preceeding e will undergo gfdea by edt 6/1/10.
So we get f337+fq, here from fa9 point of view ({%]) is 3=t 371597 and a
HhRled  3ST.
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In fa9 - T is 3 so T, also faq is HIT:TW by 3/1/113 and T, hence doesn't stops guna.
So by sutra 7/3/84 FIAUTIHIETUTIRAT: this 3f=cd KPR of anga undergoes guna

and get replaced by 31X.
fe7+fd becomes T fa = fAfd similarly fosfe™ fsfa

Consider 3 ¥, as explained earlier I comes after dhatu and undergoes
e, due to @l 6/1/10 dhatu undergoes gfdca.

So we get fé’ai dd, under this condition

aq is Hl'ccﬁTIT:IjF by 3/1/113 and 3-1‘&!?[ o) %T—[by 1/2/4, hence stops guna by TFastad
1/1/5. So no guna for ecd Fh of anga.

Hence we get 'I%fﬁi a9q = 'I:aﬁj}'-f:, similarly %‘a‘{?l: faa{u 'I:aﬁ{a’: 'I:aﬁiﬂ':

Consider & in prathama purusha bahuvachana f31. As mentioned earlier 29 will
be added and becomes % and dhatu undergoes dvitvam due to el 6/1/10.
So we have faey + =¥

Under this condition @ which is sardhatuka 311"3!?-[ so %T—[ hence won’t allow
guna, but will be repalced by 3fa.

This happens because %3{_ is I by sutra 3R 37FITAH 6/1/5 and for a
Abhyasta 3T will become 37 by 31GIEdrd 7/1/4, so &1 will be 31fd, hence
f93] + T2 = f997 +31fa@ now by I9T sandhi % becomes I, so we get faarfa.

ICEIGE ﬁfaff: ICEIG
ICEINMEE RENEE Uf
foerfar feqa: fegen:

Consider & 31 in &3, as explained earlier 29 comes after dhatu and
undergoes ¢, due to gt 6/1/10 dhatu undergoes gidea.

So we get T3] 21, under this condition by sutra fsTeaeafafgsae= 3/4/109
& will be 5 (39)

9+ = Qo7+ T5r = 997 + | = 99 + 39
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Classification of ¥Tds, d & fAg pratyayas.

Now though I is 31O |rAYTd® yet by SIf& = 7/3/83, & causes guna of
anga’s g letter . Hence we get SIFR + 3H and as usual 3¢ agama also
takes place, so we get 37Tae%:

sifosr: Jfosam difesw:

RITEE 3-]‘%318?:[ 3-1‘%31?

In Atmanepade, all pratyayas are sarvadhatuka 34@?—[ SO %T—[ hence won’t
allow guna. But dvitva prakriya remains same. § @ — &% @ —— 99
Similarly Rom fsry  faey femdr fepey e fspad Ropme

Rgdr e ey

Ry Ry Ry

R feme R

g greTerTar: 1083, 3™ gana, parasmaipadi.

Considerg—‘r’-ﬂg in a-cfaﬁﬁqu’m parasmaipada.

§ + ©IC under this condition by sutra aﬁﬁ'%l'c[ 3/1/68, /Y comes afterg;r ‘iTIT;fI

So it will be - § + T + faq

Now 19 will become 2 (= 3iG¥=#H) by SEICATEIT: ¥o: 2/4/75.

So it will be - § + +faq

Under this condition dhatu preceeding ¢ will undergo gfdea by @t 6/1/10.

So we get Ejg’ + fa, here from faq point of view (3T€) is 89l 31597 and a

3PRled 37371

In f9 - Tis 3 so U, also faT is 'H'Iéﬁ'l?:l)? by 3/1/113 and T9d, hence doesn't stops guna.
So by sutra 7/3/84 FIAHTIHTETUTIRAT: this 37 3%R of anga undergoes guna
and get replaced by 3.

g+ 3 becomes ST + fd = SEIfd, SEIR®, SEIA.

Consider g a4, as explained earlier 19 comes after dhatu and undergoes
?e, due to <&t 6/1/10 dhatu undergoes gfdea.
So we get Sfg a4, under this condition
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a4 is H‘I’ccfiﬂ@ﬁ? by 3/1/113 and Hﬁ?—[ SO %?—[by 1/2/4, hence stops guna by Fastad
1/1/5. So no guna for ecd 3 of anga.

Hence we get 5f§ a¥d = e, similarly SIEY: SIgY Sfgd: SgH:

Consider § in prathama purusha bahuvachana 7.

As mentioned earlier dhatu undergoes dvitvam etc.

So we have g + E]

Under this condition T3 which is sardhatuka 3179d, so f3d, hence won't allow
guna, but will be repalced by fa.

This happens because g is 3#I%d by sutra 3R 3WFIEAH 6/1/5 and for a

Abhyasta 3T will become 3d by 3G¥IEdTd 7/1/4, so &1 will be 31fd, hence
g + f3 = Jg +37fd now 3 becomes T, so we get Sfedfd.

SR Sge: Sfeafd

STy STEU: Y

similarly &rs( (=aT) &=1,1091 3" gana - ga1fd etc.
ZETS] (=4T) YROTANoRAY: 1092, 3 gana - gnfa etc.

S ~

*® 3 becomes T by sutra 'g'%o_f:ﬁ H‘IT:‘PEJI'IT?? 6/4/87
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Classification of YTds, hd & fAg pratyayas.

TR 3mmaRor 1438, 7"gana, ubhayapadi. TR = &%
In$TY both § and T are 3 by sutras 1/3/2 and 1/3/3, only ¥ remains. So
TR = 7

Consider ¥4 - €T in T SHARIIIT parasmaipada, So we have - ¥ + faq
under this condition by sutra 3-1-78 TIEe: IH, 27H is a AT agama comes
after final svara of ¥ H1d|

In 278 - both 2 and H are 8d by 1/3/8 and 1/3 /3, so T and fAd. Hence #H =51

This is TR, it is AT by 3/4/113, also it is T, so by HIAUTIh# 3T 1/2/4 it is
%T—[, hence stops guna by fesTa T 1/2/4.
This is fAd, hence an Agama by sutra fAealisecarcaR: 1/1/47% and is added

after final svara (3fecd: 3T<]) of a prescribed Anga.

In® + A9, ¥ (= T 3 ) is an Anga containing only one 379 letter 3, so this
itself is a final svara. e1H (=sT) being a fAd agama comes after 3.S0 we get

s+ =Y3Aa+ RU=37 4@ =5 =5 @y - =

Similarly s+ will be ¥ & & & = TAfcq.
T+ T8 will be & & & & = TR

Consider%??{—mgr indd, here also as explained earlier, on account of sutras
Ffeey: 1A 3-1-78 and fAGAIsscaTeaR: 1/1/47, TAQ agama H comes after
final svara of ¥® I

O + dH becomes T & ¢ d:,

d: is f3q, under these conditions 37K of =T of 27H becomes lopa by
AR 6/4/111 and also as explained earlier srseaieifser: 8/2/40 and
sTell STeT S1fr 8/4/53, so we get

T g d: by 6/4/111 ¥ o1 g d: and by 8/2/40 & 8/4/53 ¥ = I &

* For details see sutram 1/1/47 at paribhasa and rules.

*® These complex sandhis will happen due to sutras STYEqAefser: 8/2/40 and TaT a1 S 8/4/53,
here we are not discussing these rules.

** The 31@T of 7 of IH pratyaya becomes lopa when followed by %or%ﬂ pratyaya.
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Classification of ‘E—Ilgls, clgd\& i?—l% pratyayas.
Under these conditions by sutra 3RT 51X ¥auf 8-4-65, the lwhich is
preceding €: will optionally becomes lopa. Hence we get two forms as

=¢:** and s=tr: for our level we use only one form %=

T

L

by sutra 8/4/65 ¢ _optionally becomes lopa

If no lopa of ¢
/ If lopa of &_
N
30‘31 3°—§|;

Similarly ¥ + & = Fog:/T:, I + ¥ = Tog /Tt FG+T: = Toed: ¥ + H: =
S H:

Consider % — €] in I8 here also as explained earlier, we get ¥ & ¢ 2.
Under this condition by sutra 3fled: 7/1/2, 3 becomes 3=, so & will be
3ifea.

Hence ¥ & 4 37 will be ¥ & 4 3ifed.

Now by =8Redd: 6/4/111 37%R of sT becomes lopa because &7 is f3d.
Hence we get & & & 3ffed will be & o ¢ 3fed = FHied

Tl Tt Tetled
TATCH Fotl: ToE

TATEH Toed: TovH:

Similarly in atamanepada also

TYd = &g / oY Y HA = U, T IHd = ToUd

“Here o1 doesn’t become UT by sutra Wsﬁ 8-4-2, due to technical reason which is beyond
the scope of this discussion.
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Classification of YTds, hd & fAg pratyayas.

Y ¥ = Fecd T Y = TN,  TY €d = Teged / Toid,
T = &Y T qE = TeLd T Hg = WLAT

T Ul ewd

Tocd T Soed

Y Trtdg SetHe
Similarly AT fagRoY - 1439, fey cdeherior - 1440 etc.

Consider gfoiy @t 7™ gana, 1444, ubhayapadi.

In TSR both  and T are g by sutras 1/3/2 and 1/3/3, only % remains. So

Consider ﬂG[— ?.]T?-of in Raﬁﬁm parasmaipada, so we have - §3[+ ﬁ'c[

under this condition by sutra 3-1-78 T{¢eT: &I, ¢1H is a AT agama comes
after final svara of Jol UTd as explained in earlier example.

It + a9 = Foiel fd = FAPA also JoAsl T = Joiep W = gafay, gt & =
AT,

gl +d: = Jolol d: 3R lopa by 6/4/111 . J=sl d: under this condition
many sandhi rules will apply, due to which ST becomes %, also s becomes

anusvara and then following letters vargas anunasika that is &adTs 31oj,o1|'|'<\-|ch
which is S, so we have gsFd:. similarly ?:1,?2-}“21: ?EI)EEF?I
gl +d: = ool T: here s becomes anusvara and then following letters

vargas anunasika that is gadls agdlmqn which is 3, hence we get I>sd:.

Similarly Is=d: J>alfed.
P} S

FoATohcd ggFl: Fooliod

TATY JSFA: JSFY
S o T g o I

TJATeH Jood: oo :
9 9 9
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Classification of YTds, hd & fAg pratyayas.

o841 in atmanepadi

JI d =JsFd. oI I = Js& & = J3aT.

S~ o= A o= o=

In € o1 € = s &4 = Fgoed

In 37T 31 37 and T, we have respectively I>oild J>oid Il Isol.

In 9¢ A we have Isodg I>oH

ggFd Foolld Fooldl
gsal oY ggeed
P I 9 P I
I5al P>odg TooHe
Pl S S
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Classification of YTds, hd & fAg pratyayas.

Atmanepada ﬁlg‘ pratyayas along with fQ&or yeaor I+ for any sakarmaka

dhatu in FATOTIRT
All these pratyayas will not cause guna to a dhatu, due to Js.
T Ia@ ety IdTH o1’
Ia JP@ geg ip=s| JeaH
2 I DiE ¥ e

72T JAC | FEaH Jur. | AU | AJedH
2@ aafy | amR I Jafe | AR

All these pratyayas are Ardhadhatuka fd due to I&, hence no guna.

These pratyayas will cause samprasaranam.eg- sutra 6/1/15 & 6/1/16.

In $TAYART only prathama purusha ekavaachana Atmanepada pratyaya form will
be there. Here pratyaya along with I, for any akarmaka dhatu is given.
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Classification of ‘c’—llgls, Dd & ﬁ-l_S: pratyayas.

ARG, so 3METEUTIH
by 3TEUTRHA AW: 3/4/113

e

so doesn't allows Guna and vriddhi.

but allows Samprasaranam
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Classification of ‘E—IISIS, Dd & i?—l% pratyayas.
Parasmaipada and Atmanepada pratyayas of [ &/%R along with
fa@or v =L

d¢ for all 3iflc dhatus with faeoT €.

¢ IFR - T Afed REATE Jead: I JFR - T FiRd IHcHAAYe Fcad:
I & wafea w7 A e d
wfa = iRk = Uy e
A LRIEE SRILE = Tarafy Tt

o< for all ¥¢ dhatus with faehioT €.
Here instead of ¥, 3T is added to pratyayas.

¢ TR - T Aed REHIG JeIT: ¢ THR - T Aigd HcAATG T
gafa® g geAfed s | sam | g
S EE N guu: | ThUW | gsaeaH

All these pratyayas will allow guna to a dhatu, due to ¥ pratyaya, which is

a non fhd/ non f3d Ardhadhatuka pratyaya.
T is a fehc/3rfS meienge.

@ Here § which is a part of ¥ becomes ¥ by sutra 3¢dcaaal: 8/2/59.

ﬂ [:ﬂﬁ?[ So 3MHETTH

by 3TETUTRH AW: 3/4/113

FfFay afsa

| so allows Guna and vriddhi.
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Classification of YTds, hd & fAg pratyayas.

Parasmaipada and Atmanepada pratyayas of o3 &R along with

fa@or v =L
9% for all 3iflc dhatus with faeoT &1,

g THEN - T Hied TEHTE TI: I3 @R - ¥ dfed AeAaIg g
S UKL Sl TIT: TR TITaH
A 9 AalG! ) Tafy TaTAfy

9% for all ¥¢ dhatus with faehioT €.
Here instead of ¥, 3T is added to pratyayas.
I3 TRR - T Aigd WEATE JcI3: I3 RN - T Aigd IcAA9E TeId:
TSY: SSdH $STd SSTYUT: | TRUWH SSYEIH
ST SS1q SSITH Sy sSgTafg SSTATE

All these pratyayas will allow guna to a dhatu, due to ¥ pratyaya, which is

a non f&hd/ non f3d Ardhadhatuka pratyaya.
T is a Hfehc/3fsa meienge.

@ Here ¥ which is a part of ¥ becomes ¥ by sutra 3Cdcgaal: 8/2/59.
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